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Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459272497
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 54592742017 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the missing term in the following series:

SP8, , 19X22, 26B29

Options:

1. v 12T15
2. % 125815
3. = 10T12
4. % 12516

Question Number : 1 Question Id : 54592742017 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feafafEa e g@er A oIt g AT L

5P8, , 19X22, 26B29

Options:

1. v 12T15
2. = 12515
3. = 10712
4. = 12516

Question Number : 2 Question Id : 54592742018 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Find the wrong term in the following series:

OranGe, IndiGo, blAcK, yElloW, GreEn

Options:

1. = yElloW
2. » IndiGo
3. = blAcK
4. v GreEn

Question Number : 2 Question Id : 54592742018 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feafafEd gEer A eld T8 AT -

OranGe, IndiGo, blAcK, yElloW, GreEn

Options:

1. = yElloW
2. » IndiGo
3. # blAcK
4. v Grekn

Question Number : 3 Question Id : 54592742019 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Arrange the given words in the sequence in which they occur
in the dictionary.

1. Slackened
2. Slaughter
3. Slandered
4. Slamming
5. Slavering



Options:

1. % 1,3,2,5,4
2. % 1,4,2,3,5
3.% 1,4,5,2,3
4.v14,3,2,5

Question Number : 3 Question Id : 54592742019 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT esal ol 3 FH H TIEUd Y o T osaehlel A
gid gl

Slackened
Slaughter
Slandered

Slamming

L N

Slavering

Options:

1. = 1,3,2,5,4
2. % 1,4,23,5
3. » 1,45,2,3
4. v 1,4,3,2,5

Question Number : 4 Question Id : 54592742020 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the given options, three are similar in a certain
manner. However, one option is NOT like the other three.
Select the option which is different from the rest.

Options:

1. v EGK



2. » WUS
3. = GEC
4. = RPN

Question Number : 4 Question Id : 54592742020 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feU 90 aOeheur A &, did T ead dileh & AT &l
BTollleh, Ueh Tdehed 3T dlel hT i@ olal &1 39 &hed &

el he ST ST T 3TeldT &1

Options:

1. v EGK
2. = WUS
3. = GEC
4. = RPN

Question Number : 5 Question Id : 54592742021 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

In the given options 3 pair of words are similarly related and
one pair is differently related. Find the pair which Is
differently related.

Options:

1. » Cars : Garage
2. » Cows : Shed
3. v Horse : Foal
4. = Dog : Kennel

Question Number : 5 Question Id : 54592742021 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



feu 710 fahreul & 3 orsal & ST ThTHATT Joad & T s
SISr 3ol i@ O Harad gl 39 SISl I ATT &L SF 3eler

e O gafaa &l
1. = ST ; IS

2. % I | STI
3. v ST : OIS T F<dI

4. = hed : hedl-TR
oo oo

Question Number : 6 Question Id : 54592742022 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the given options 3 pair of letters are similarly related and
one pair is differently related. Find the pair which 1s
differently related.

Options:

1. * BHM : FLQ
2. v DMQ : IRV
3.« RWG : VAK
4. = KTU : OXY

Question Number : 6 Question Id : 54592742022 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fou v gereul & 3 38T & NS THTAT Tarad & 3t o
SISr 3ol i@ O Harad g1 39 SISl i ATT & SF 3eler
g o garad &l

Options:

1. = BHM : FLQ
2. v DMQ : IRV




3. = RWG : VAK
4. = KTU : OXY

Question Number : 7 Question Id : 54592742023 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that is related to the third term on the same
basis as the second term is related to the first term.

BFM : YCJ] - PTX : ?
Options:

1. = NSO
2. v MQU
3.« MRO
4. = NRQ

Question Number : 7 Question Id : 54592742023 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

39 [dhed &7 I« Y S dIaX U8 8 38T TR & T@aidd &
o 7hT & Ugell U g 9% & Faiad gl

BFM : YCJ = PTX : 7

Options:

1. * NSO
2. v MQU
3. * MRO
4. = NRQ

Question Number : 8 Question Id : 54592742024 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the pair that is related on the same basis to the pair
given in the question.

YNIF : APH . ?
Options:

1. v LEV : NGX
2. » VBF : YEI

3. * GKN : DHK
4. » KDU : MGW

Question Number : 8 Question Id : 54592742024 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3 SET T Ide Y ST 38T MR W eiad a6, o g 3R
9T gaTel H & 918 Siar garad &l

YNF : APH = 7?
Options:

1. v LEV : NGX
2. = VBF : YEI

3. = GKN : DHK
4. = KDU : MGW

Question Number : 9 Question Id : 54592742025 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the group of letters that is related on the same basis to
the group of letters given in the question.

IMS : HNR : GOQ 1 ?
Options:

1. v KTZ : JUY : IVX



2. » KMZ : JUY : MZN
3. = KSA : SML : DNH
4. = KSA : LMS : IVX

Question Number : 9 Question Id : 54592742025 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3 &R & GHE F IIa H A 34T YR 9T Gafdd g,
o 3TYR 9T gaTer A QU v 318670 & GHg AT g

IMS : HNR : GOQ :: ?

Options:

1. v KTZ : JUY : VX
2. = KMZ : JUY : MZN
3. = KSA : SML : DNH
4. = KSA : LMS @ IVX

Question Number : 10 Question Id : 54592742026 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If a cupboard is called almirah, almirah is called chair, chair
1s called table, table is called clock, clock is called mirror, then
where does a person sit?

Options:

1. = chair
2. v table
3. = clock
4. = mirror

Question Number : 10 Question Id : 54592742026 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



afE Tk HEE T IIART FE S, ITART HT FH FeT ST,
AT hT AT F& SV, AT HT ST FT AV, G31 HT SG0T Fgl
e, ar fhT v afea Sadar Far &7

Options:

1. = Fd0
2. v B
3. = ©ar
4, % gqur

Question Number : 11 Question Id : 54592742027 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a certain code language,

'score the maximum marks’ is coded as "pin chi gi m!’
'marks are less than’ is coded as 't1 hi cim pin’

'score the highest marks’ is coded as 'gi chi shi pin’
'less than you’ is coded as 'hi cim vi’

What is the code for "highest’ ?

Options:

1. = g1

2. = chi
3. v shi
4, = pin

Question Number : 11 Question Id : 54592742027 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Teh TATead I #T9T A,

'score the maximum marks' T @18 & 'pin chi gi mi
'marks are less than' &T &g & 'ti hi cim pin'
'score the highest marks' &T ®I5 & 'gi chi shi pin'
less than you T &I & hi cim vi

'highest' T &5 FAT &7

Options:

1. = gi
2. = chi
3. v shi
4. % pin

Question Number : 12 Question Id : 54592742028 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If CREAM is coded as FUHDP, then what is the code for
STUPEFY?

Options:

1. » VWXSJKC
2. » VYXSGJC

3. = VYXWSJID
4. v VWXGSHIB

Question Number : 12 Question Id : 54592742028 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gfe CREAM & FUHDP & &9 # &Ifsd forar Srar &, a
STUPEFY T &I T 87

Options:

1. = VWXSJKC



2. » VYXSGJC
3. » VYXWSJID
4. v VWXSHIB

Question Number : 13 Question Id : 54592742029 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Six friends — Raunak, Shibir, Mohit, Neha, Kanika and Tony
are sitting around a circular table such that each person is
sitting exactly opposite another person in the group, thus
forming 3 pairs of friends sitting exactly opposite each other.
Raunak is sitting to Tony’s immediate right. Kanika is sitting
to Neha’s immediate left. Mohit and Tony do not sit next to
each other. Neha and Tony do not sit next to each other. There
1s exactly one person sitting between Kanika and Raunak.

Who among the following do NOT make a pair of friends
sitting exactly opposite each other?

Options:

1. = Mohit-Shibir
2. » Raunak-Neha
3. v Kanika-Shibir
4. = Kanika-Tony

Question Number : 13 Question Id : 54592742029 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A & IR 3N 83 §| SoH F vl Aled THg & forar
T SgToFd o ok [T 8T &, 39 WhR 3 SIg gEdl o
UF g & foedel ol §S §1 ek, il & S a5 3R
ST &1 Flolhl, &7 hl Sl &5 T FoI gl Alled AT clar
T GEY o ST H oTar §S &1 o1gT 30 el Ueh gEy & &9l
H o8l 8S &1 Shiaiehl 3T Tedeh & &iT Sh Tk hldd dT &

fArafaf@a & & Fid v gar & THIT 8 arear Hr Siar

1. = Aga-TRITsT

Question Number : 14 Question Id : 54592742030 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the given options 3 pair of words are similarly related and
one pair is differently related. Find the pair which Is
differently related.

Options:

1. = Birds - Ornithology

2. v Bees - Etymology

3. # Insects - Entomology
4. = Reptiles - Herpetologist

Question Number : 14 Question Id : 54592742030 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

fow a7 [GQereul A esal $T 3 FAET TATT T F THTOT &, AR
Teh SIS 3eldT oig & Fardd gl 39 SISl &l ATT &L Sir 3eldT
& ¥ gerad gl

Options:

1. = TET-g&aaATe

2. v AUHATFEAT - T Tcdened
wt ot

3. % I - I TA

4. » TG - TG AT

Question Number : 15 Question Id : 54592742031 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that arranges the words given below in the
most appropriate and meaningful sequence.

1. Adolescent
2. Toddler

3. Infant

4. Elderly

5. Youth

Options:
1. v 3-2-1-54
2. % 53-4-1-2-3
3. % 2-3-1-54
4. % 3-1-2-5-4

Question Number : 15 Question Id : 54592742031 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



ARt fev 910 ereal s Ho IUIFT AT ATTF IeRA A

LY Y i o
AT hial dlel [dFeT T T Hi|

1. Adolescent
2. Toddler

3. Infant

4. Elderly

5. Youth

Options:

1. v 3-2-1-5-4
2. % 5-4-1-2-3
3. = 2-3-1-5-4
4. = 3-1-2-5-4

Question Number : 16 Question Id : 54592742032 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Analyse the given information and answer the question that
follows.

The criteria for selecting a Software Developer have been
given as under:

The candidate must:

1. Be a graduate in Science or Engineering with at least 60%
marks.

2. Have more than 1 year of industry experience in software
development

3. Be between 18 and 27 years old on the date of application
The following exceptions apply:

A. If a candidate meets all other criteria except 2 above, the
candidate will be referred to the Programme Manager.

B. A candidate whose age is more than 27 years but less than
32 years will be referred to the Recruiting Manager.

Senthil Kumar is a university topper in Bachelor in Computer
Science with 91% marks. He has worked with SynLabs firm
as a software developer for 21 months. He is 25 years old.
What decision should be taken about this candidate?

Options:

1. v The candidate should be selected.
2. = The candidate should be rejected.

3. » The candidate should be referred to the Programme
Manager.

4. = The candidate should be referred to the Recruiting
Manager.

Question Number : 16 Question Id : 54592742032 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

&I IS STeThRT T [3ealor ¥ 3T 39 wea &7 3cad & o
oo TR B
Ush HIFCAAL STAIH o Tel o HAlelas foie=lleldr fev arw &:

3FAEAN I ARV

1. HF & T 60% 3Th! o T A ATA AT Soilla AT H
TATAR &l

2. HiFedIL STeTHC A 3N T 1 a¥ & 3k T 3HTHT gl
3. 3@Age hr At 18 & 27 a¥ & &= &l

fAFafel™@a auare o] gid &:

A. IfE FIE IFARIR 3TNFT 2 I BIgHL 3T GHT ATACS!
I W T §, d SFAGIR I TEITH Heloll & 9 Sl
STTUATT|

B. Ush AR foraehr 3mg 27 a¥ @ ifae &, ofcher 32 a¥
T FH &, F 7df TgUF F I AT ST

Hfer FAT 91% 37T & WY S<o} a7 HYeX TR #
IAafer S &1 38e1 SynLabs ®F & €Y HIFCAIL STl
& ¥ H 21 TG deh 1A RAT &1 3THRT 37 25 a¥ &

59 3FAGAN o gR H 7 v folar Srer arfge?

Options:

1. v 3FACAN T I BT ATET|
2. = 3FACAN I TS HY GIT AT A1@v|
3. » 3FAICAN I WEMH Hololl & T HST SATaT ATRT




4. » IFAETR I AT g & 9T FoT ST ANge|

Question Number : 17 Question Id : 54592742033 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Deepak introduced a girl and said, "She 1s my mother’s only
son’s daughter”. How is Deepak related to the girl?

Options:

1. = Uncle
2. = Brother
3. v Father
4. = Cousin

Question Number : 17 Question Id : 54592742033 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

&I9eh of Ueh oISehl ol URTT HUAT 3T FHar, "gg AL ATAT bl
Sholldl Sl T Sl &'1 S9eh oI5l & Fd Jardd &7

Options:

1. = TIT/ATAT
2. % 82
3. v MOar
4. = TAMAAL

Question Number : 18 Question Id : 54592742034 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




In this question, a statement has been given, followed by two
assumptions numbered I and II. Analyse the two assumptions
together and determine which of them is/are implicit in the
statement.

Statements:

For your child’s bright future, it is advisable to send your
child to an expensive private school than to a free
government school.

Assumptions:

I. Private schools have better facilities and teachers that can
make your child’s future bright.

II. Government schools do not have facilities and teachers
good enough to bring out the best in your child.

Options:

1. = Only assumption I is implicit.

2. = Only assumption II is implicit.

3. » Neither assumption I nor assumption II is implicit.
4. v Both the assumptions are implicit.

Question Number : 18 Question Id : 54592742034 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



=g U H, U wud fgar = §, g s | 3w 1l Fray
JRUNY & Teh TTL el gROMT FT faeavor i 3w @aiRa
F b 38 & Fid I/d s A fed g

FTeT:
Y+ T & 3eode AAT & oV, 3UF s F TF JF
TLHRT Thel T Jelell H Tsh AgN Tololl Tohet H Aofel 3T &I

S

YIuMe:

. forolr Tepell A SgdT Fiaumw 3K Rerer § S 3oeh aed &
AT T Ioodel Fell Thd &I

I TTFRT Thell A 3M9F Fed H FAASAT ol & folw giaare
3T e gATeT 8T g

1. = e gror | fafga &

2. = hae grom |l fafga &

3. = o dF 9RO | 3T o & aror || fafga &
4. v gel grRone &fgd &l

Question Number : 19 Question Id : 54592742035 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




In this question, two statements have been given labelled as
Assertion (A) and Reason (R). Analyse both the statements and
determine whether they are correct and whether the reason
correctly explains the assertion.

Assertion (A): Mawsynram has off and on hailed as the
wettest place in the world.

Reason (R): The women in Mawsynram make rain covers
known as “knups to create a rain shield to keep rain off.

Options:

1. = Both A and R are true and R is the correct explanation of
A

2. v Both A and R are true but R is not the correct explanation
of A.

3. % Aistrue but R is false.
4. = A is false but R is true.

Question Number : 19 Question Id : 54592742035 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

=H Ued H, af ®UAl Al ATAFAT (A) 3T FROT (R) & &7 H
Siger f&aT =T &1 QST FUAT FT Fedvor HY 3T AT T
for a7 & HaT & 3 97 FROT & Fer g 7

IfHFU (A): AHATH T el H Gad [Tl S8 Aair
ST gl
FROT (R): AGREATH HT AR aTer & 594 & o 3

Al Il g, Toid Fltd hgl ST &

Options:

1. » A 3T R et T & 3T R, A T g =T&T &l




2. v A 3T R QAT T § oifereT R, A T TcT SITEAT =T8T &l
3. » A O & ofhad R 38T &I
4. = A 3T § dfFa R T &I

Question Number : 20 Question Id : 54592742036 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Complete the following number series:

80, 63,48,35,
Options:

1.v 24
2. % 16
3. % 28
4 % 18

Question Number : 20 Question Id : 54592742036 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feafafEd dear s@er ST Q@ +i:

o,

80, 63, 48, 35,

Options:

1. v 24
2. % 16
3. % 28
4. = 18

Mental Ability?2

Group Number : 2
Group Id : 5459272082



Group Maximum Duration : 0

Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Mental Ability?2
Section Id : 5459272082
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459272498
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 54592742037 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the wrong number in the following number series:

0.128, 0.64, 3.2, 18, 80

Options:

1. » 0.64
2. % 3.2
3.+18
4. % 80

Question Number : 21 Question Id : 54592742037 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



frafoad Tear sEer # & Ted F&IT AT -

0.128, 0.64, 3.2, 18, &0

Options:

1. = 0.64
2. = 3.2
3. v 18
4. = 80

Question Number : 22 Question Id : 54592742038 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that is related to the third number on the
same basis as the second number is related to the first
number.

192 : 144 :: 296 : ?
Options:

1. = 242
2.v 222
3. = 298
4. % 256

Question Number : 22 Question Id : 54592742038 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

39 [Ahed T T HT ST AT J&IT H 30T TR 8 Td&rad
¢ o 9 8 ugell & qEdl §8AT 8 FEidd g

192 : 144 - 296 : ?

Options:



1. = 242
2. v 222
3. = 298
4. = 256

Question Number : 23 Question Id : 54592742039 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the missing number in the following number series.

117, 105, , 78, 63

Options:

1.+ 92
2. % 85
3. % 94
4. % 89

Question Number : 23 Question Id : 54592742039 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

feTTaT J&ar 4&enr | oI TEAT I ATT FL

117,105, _ |, /8, 63

Options:

1. v 92
2. = 85
3. = 94
4. = 89

Question Number : 24 Question Id : 54592742040 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Find the missing number in the following number series.

3456, 576, , 48, 24, 4

Options:

1. = 290
2.v 288
3.=96

4. % 120

Question Number : 24 Question Id : 54592742040 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAeFafTaT a&ar g&enr A oI TEAT I ATT R

3456, 576, , 48, 24, 4

Options:

1. = 290
2. v 288
3. = 96
4. = 120

Question Number : 25 Question Id : 54592742041 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the missing number in the following number series.

10000, 2000, , 200, 100, 20

Options:

1. v 1000
2. % 1500
3. = 800



4. % 1200

Question Number : 25 Question Id : 54592742041 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFITTaT J&ar 4&enr # Gk TEAT T ATT FL

10000, 2000, , 200, 100, 20

Options:

1. v 1000
2. = 1500
3. = 800
4. = 1200

Question Number : 26 Question Id : 54592742042 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If X/r > y/r and r < 0, then which of the following is true?

Options:

l.xxX>y
2.vX<Y
3.5X-y>0
4.« xX+y<0

Question Number : 26 Question Id : 54592742042 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ife xir > yir 3 r < 0 &, O [Aeatiali@&a & & FidT I7 T
&7

Options:

1. = x > vy
2. v X <y
3. * x -y >0



4. = x +y < 0

Question Number : 27 Question Id : 54592742043 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Manish is now three times as old as his niece. Five years back,
he was four times as old as his niece. What is the age of his
niece?

Options:

1. = 10 years
2. v 15 years
3. = 8 years

4. % 13 years

Question Number : 27 Question Id : 54592742043 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3730 HeATY 37T TSl & oflel el §3T &1 T Aol Tgel, T8
YT oTcisll |/ TR [T §3T AT| 3T il T 37 AT §7?

Options:

1. = 10 @y
2. v 15 @y
3. % 8y
4, = 13 ay¥

Question Number : 28 Question Id : 54592742044 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The product of two numbers is 288 and their LCM is 144,
what is their HCF?

Options:

1. =4
2.% 0
3.% 8



4 v 2

Question Number : 28 Question Id : 54592742044 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ol Tt T 3cure 288 & 3 SeTeRT oHcaH HATIGAS 144

&, ol 3eTehT AgccH WHTIGCh AT g 7

Options:

1. = 4
2. = 6
3. = &
4, v 2

Question Number : 29 Question Id : 54592742045 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which two numbers should be interchanged to make the
below equation mathematically correct?

23 +105x6+3-62 =249
Options:

1. » 6, 62
2. % 105, 62
3.% 0,3

4. v 23, 62

Question Number : 29 Question Id : 54592742045 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A 8T T FATRIOT &l A0GT 9 8 gl dadla & e et
al TEATHT S TWER TATATART fohar SATer amfge?

23 + 105 x 6 + 3 -62 =248

Options:



1. = 6, 62
2. = 105, 62
3. = 6, 3

4. v 23, 62

Question Number : 30 Question Id : 54592742046 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Venn diagram given in the question represents the
relationship between the items given in which of the
following options?

Options:

1. ¥ authors, men and teachers

2. = butterflies, insects and worms

3. = Mumbal, Ahmedabad and Gujarat
4. = mothers, artists and humans

Question Number : 30 Question Id : 54592742046 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

goaT 7 8T =T 39 INT farfofag & O g fOreT & 2T
T FEIN F AT F FEY R AT §?

Options:

1. v oi@e, I5Y 3T forereh




2. = Taafesr, #1383 FfA
3. » HSE, EASETE 3N TR

4. * ATV, FHeThR 3 FHofed

Question Number : 31 Question Id : 54592742047 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U AT fooiey Fog & Tl ¥ qoT 9T foF 3 R 913
F H o HAlfelh g1 ST Fel o IRUMH THearoliEd del 3RT
H femme v & fordel @eET o7 di §sT & & & &% =l Y
& HAlfeleh &7

m.rmu-ﬂ

PolesrCapchens

Options:

1. = 10
2. % 3
3. % 17
4. v 13

Question Number : 31 Question Id : 54592742047 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Members of a certain business club were asked which brand
of car they own. The results of this finding is shown in the
following Venn diagram. How many members own atleast
two cars out of these three brands?

Options:

1. = 10
2. % 3
3. %= 17
4. v 13

Question Number : 32 Question Id : 54592742048 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In this question, two statements are given followed by an
inference. Analyse the statements and the inference and
determine whether the given inference can be drawn from
the statements.

Statements:
I. A person can either be married or happy.
I1. Vikas is happy.

Inference: Vikas is not married.

Options:

1. ¥ The given inference is definitely true.



2. » The given inference is definitely false.
3. » The given inference could be true or false.

4. = This inference cannot be drawn from the given
statements.

Question Number : 32 Question Id : 54592742048 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

=g 9o H, &7 FUl & dG Ueh AT ST STl &1 Shear
3R STATAT T faeedyor & 3R faTia T f& fqu e
HAATSAT T FAAT T foAshTell ST FehelT & AT LT

haeT:
. U gfFd A7 o faarfed & TRl & I FeA & Fohall g
I Tashrer Zer &

3TefATeT: TaohTE emeIRear wal &1
Options:

1. v 3T 37 37e[ATe HT &

2. « e arr 3MeTATS AT ¥ & 3T B

3. = T 917 (AT T AT AT & TheT ¢
4. = Tg AT U AT Ferel H W& LT gl

Question Number : 33 Question Id : 54592742049 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Gaurav walks from his home to office. First, he goes 1 km to
the West; then, turns right and goes for 2 km. From there, he
turns left and goes for a distance of 2 km. Finally, he turns
right and walks another 2 km to reach his office. What is the
shortest distance between Gaurav’s office and his home?

Options:

1. = 3.5 Km
2. % 4.5 km
3.+5km
4. = 7 km

Question Number : 33 Question Id : 54592742049 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

NG 39a T ¥ S & TolT Toidr gl 9 Ugel, 9§ ureds

H 1 km S7ar & TR, 20 3T & 3 2 km ST &1 T8 4,

Jg ST J3AT & 3R 2 km T T IF FIAT g1 3MEFRR, T8

AL @5d|%ﬁmﬁmqgﬂﬁ$ﬁv2kmmﬁliﬁw
& U 3N 3% T & &g qed FA g7 Fhdalr g7

Options:

1. = 3.5 km
2. » 4.5 km
3. v 5 km
4. = 7 km

Question Number : 34 Question Id : 54592742050 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Which of the following options is the wrong figure in the
series?

R PP Q[RQP
Q R Rl Q
d

[l

Do

Options:

1.vA
2.% B
3.%C
4. =D

Question Number : 34 Question Id : 54592742050 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafaf@d # & sl A7 AsheT s@ar & o 3Mpid &7

R PP QRQFP
Q R Rl Q
d

[als]

DO

Options:

1. v A
2. = B
3. C
4. = D

Question Number : 35 Question Id : 54592742051 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the given options, three are similar in a certain
manner. However, one option is NOT like the other three.
Select the option which is different from the rest.

Options:



Question Number : 35 Question Id : 54592742051 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

feT a0 Ta&edt & &, did Tk Aead dies O A &l

&Tollieh, Ueh Tdehed 3o dld hl i@ olal &l 39 Thed &
el L S e T 37el4T &l

Options:

UNOO
0 NE
O o




NOON
OO0
O~
3. v A O
DEDEI
EDD
4. « O OH

Question Number : 36 Question Id : 54592742052 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Each option has a pair of figures. Three are similar in a
certain manner. However, one option is NOT like the other
three. Select the option which is different from the rest.

Options:

/
1. = —
/\ A
2 % y, A\ I,'.fl

4. ¢ |E22| [

Question Number : 36 Question Id : 54592742052 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Tcdesr Bered # 3RRE Fr v BT & 9 v @Afgaa ol
o AT &1 &Tellieh, Uk Ohed 3T dlel hT i@ olal &l 39
[ahed T TIT i ST 3eT T 3T &

Options:
2. % 2
4. v

Question Number : 37 Question Id : 54592742053 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following answer figure completes the pattern
shown in the question figure?

S
SH P
&< o

Options:



Question Number : 37 Question Id : 54592742053 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

fArfold A & id AT 3cadT 3MHId wea IHd # @M e




Question Number : 38 Question Id : 54592742054 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If a cube is painted blue on three adjacent sides and red on
the other three sides and cut into 64 smaller cubes, then how
many such smaller cubes will have one side red and one side
blue and no paint on any other sides?

Options:

1.v 12
2.% 06
3.% 8
4 % 16

Question Number : 38 Question Id : 54592742054 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Ife Uk GeT T dIeT e & Fr Avel 3T 37 JieT TaT
el T 8 M SIdr & 3 38 64 ST garpfadl # Fie fear
ST &, A UET fohclell BT gellshiadl # Teh Tl offel 31T
Ueh I ATell 9T BT 3T 3e fRAT o7 987 W SIS &1 80
BT

Options:

1. v 12
2. » 6
3. % 8
4. = 16

Question Number : 39 Question Id : 54592742055 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Parts given in which option can be joined to create the
pattern given in the question figure?

Options:




3.v

4 =

Question Number : 39 Question Id : 54592742055 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

wesl 3Thid A TG0 10 Yo &l &altel & foIv Sl & fashed &
feed SN2 ST @ahd &7

Options:




Question Number : 40 Question Id : 54592742056 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find out from amongst the four alternatives as to how the
pattern would appear when the transparent sheet is folded at
the dotted line.

S0 (
<92

Options:

=

1. » =

Question Number : 40 Question Id : 54592742056 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



aN foredl # & I8 AT 6 foqgr Imm W argef sere
$T Aga T Yo AT femrs am

S0
<

Options:

EP< 5
1. = =]

*’—'BQ'"
2. v =]

g

X
30w =]

b4
4, = =]

General Awarenessl

Group Number : 3
Group Id: 5459272083
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group?: No
Edit Attended Group? : No

Break time: 0



Group Marks: 20

IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Awarenessi

Section Id : 5459272083

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions; 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459272499
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 54592742057 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of these musical instruments consists of a set of
elghteen porcelain cups of varying sizes?

Options:

1. = Tabla

2. * Ghatam

3. = Mridangam
4. v Jaltarangam

Question Number : 41 Question Id : 54592742057 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gaH O fore aregaT # faffiesr smRl & 3@RE uifded &
FOT T T dc gidT 57

Options:

1. = delell

2. % HIdH



3. = HEI

4. v TIdIITH

Question Number : 42 Question Id : 54592742058 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Kalbelia dance, involving black-coloured costumes of
dancers resembling a black snake and with silver embroidery
and red laces is performed by a tribes in which of these
Indian States?

Options:

1. ¥ Rajasthan

2. » Maharashtra

3. » Jammu and Kashmir
4. » Tamil Nadu

Question Number : 42 Question Id : 54592742058 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gl MO U1 # & [ohg STefollia o o9l SaRT Shiels ol
Sfcd T Uaete forar S &, TS # el @97 & S Tel LT
& T AT gld &, 3 TET T e T oe o F gl &

?

Options:

1. v ITSTFEATA

2. » HENTSE
3. » SF 3R FHAR

4. = dTHE T3

Question Number : 43 Question Id : 54592742059 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Which of these is not a harvest festival celebrated in the
months of January?

Options:

1. » Lohri

2. v Shivrathri
3. = Sankranti
4. = Pongal

Question Number : 43 Question Id : 54592742059 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SAH O i OT B 3c0d STATiT o HAslel H dAal HART STl

Options:

1. = olgar
2. v feEai
3. % IS
4, = GlTel

Question Number : 44 Question Id : 54592742060 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Stone Chariot depicted of the new Rs.50/- note is located
at which of these places?

Options:

1. v Hampi

2. = Red Fort

3. = Gol Gumbaz

4. = Konark Temple

Question Number : 44 Question Id : 54592742060 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



T. 50/- & AT dlc # AT AT UeeR &7 I T8 O g
FaTel W o &7

Options:

1. v &F4T
2. % Tl Tehell

3. = ddl I,

4. = RUMTR AT

Question Number : 45 Question Id : 54592742061 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of these is not a General objective of Fiscal Policy of
India?

Options:

1. v Setting up Industries in Public Interest

2. » Maintain and achieve full employment
3. » Stabilize the price level.

4. = Stabilize the growth rate of the economy

Question Number : 45 Question Id : 54592742061 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SAH O ] AR HT TSTRINT AT FT TTHATCT 32T Aol &7

Options:

1. v STdAfgd & 35T TS HaAT

2. % qOT VST I T IEAT 3T 9Ted el
3. * Hed T A [C2UT Ta

4. % HIeIGEAT $T Tdhd aT & AT HTam

Question Number : 46 Question Id : 54592742062 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




Which of these is a form of market intervention by the
Government of India to insure agricultural producers against
any sharp fall in farm prices?

Options:

1. » Maximum Retail Price
2. » Wholesaler Price Index
3. v Minimum Support Price
4. = Procurement Prices

Question Number : 46 Question Id : 54592742062 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ToiFel & & hie AT AT TLHN ZGRT FhaAT STa aTell STelR
EETEYT T ¥ § S W Fr Fraar A AT o dg Pae +
HHA FIY ScdTeeh] FT GIaTT FIAT 87

Options:

1. * ORI T Hed

2. = Ul SR Hed HAhIHh
3. v ogeIdH AN Hed

4. = =g Ao

Question Number : 47 Question Id : 54592742063 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What does 'PPP’ stand for in Macroeconomics and GDP?

Options:

1. = Point of Power Parity

2. = Purchasing Power Pulse
3. v Purchasing Power Parity
4. = Power Purchase Price

Question Number : 47 Question Id : 54592742063 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



THTSE 370emeT AT GDP # 'PPP' & 372 a7 §7

1p.wtr“|'elzfai“fcﬁwﬂﬁ‘€r
2. = GATHIT YA Told

3. v TG gray dfer
4, = YAl 9 UTSeT

Question Number : 48 Question Id : 54592742064 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The wings of an airplane are designed to optimise the speed of
the aircraft as per which principle?

Options:

1. = Tesla’s Mechanism
2. » Edison’s Theories

3. * Newton's Laws

4. v Bernoulli's Principle

Question Number : 48 Question Id : 54592742064 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g5 STET & 9El +1 fhe g & AR [qaAmT & arfa &
eTshfeld lel & folv f3etmger fonam amam &7

Options:

1. = CTAT T I

2. » UlgHe & &I
3. * 7ggd & oA
4.%&!3&@'%@@?[

Question Number : 49 Question Id : 54592742065 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How many poles does a magnet have?



Options:

1. %1
2.v 2
3.% 3
4. %4

Question Number : 49 Question Id : 54592742065 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

vk gash A fohdsl ¢ 8ld g7

Options:

1. % 1
2. v 2
3. % 3
4. = 4

Question Number : 50 Question Id : 54592742066 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of these is used to neutralise gastric acids?

Options:

1. = Analgesic

2. = Antibiotic

3. v Antacid

4. = Amino acids

Question Number : 50 Question Id : 54592742066 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TSFT I FHET Fla o o0 SIH & TRGRT 39TET fomar
ST &7

Options:

1. = AGaTEY




2. % Yideae
3. v U+l
4. = 3THTAT 37FeT

Question Number : 51 Question Id : 54592742067 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Potato 1s which part of the plant?

Options:

1. = Root
2. v Stem
3. = Fruit
4. = Seed

Question Number : 51 Question Id : 54592742067 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

3T 9 T iel AT HET §7

Options:

1. = S5
2. v ddr
3. * ol
4, % d§Iaf

Question Number : 52 Question Id : 54592742068 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of these is not an Omnivore?

Options:

1. = Pig
2. % Crow
3. = Dog
4, v Deer



Question Number : 52 Question Id : 54592742068 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TAH § FidT T GAERYT ar &7

Options:

1. »
2. % ShI3T
3. * Fedl

4, v fgIor

Question Number : 53 Question Id : 54592742069 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is Ozone?

Options:

1. = two molecules of Oxygen

2. = flve molecules of Oxygen

3. v three molecules of Oxygen
4. = three molecules of Hydrogen

Question Number : 53 Question Id : 54592742069 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

JiSile T §7

Options:

1. = 3ffedrster & & 319

2. = 3IFHISIa & 9 3]
S.Jm\_rl?l'a??ﬁ?l'ﬂ
4. = ETFZISIA & olel 3701

Question Number : 54 Question Id : 54592742070 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of these does not come under Economic Impact of
inadequate sanitation?

Options:



1. = Health Related impact
2. v Share Market Impact
3. » Domestic Water impact
4. = Tourism impact

Question Number : 54 Question Id : 54592742070 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SaIH H Hid AT JIATCT TTTHAT o TR THAT o dad ool
T &7

Options:

1. = TOIEeT godl wHE
v AT TSI KT THATT

2.
3. = Be] STl YA
4. % YA THTI

Question Number : 55 Question Id : 54592742071 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of these is not characteristic of a Mammal?

Options:

1. » Have hair and fur on the body

2. * Have mammary glands

3. » Mammals are warm blooded animals
4. v Mammals are invertebrates

Question Number : 55 Question Id : 54592742071 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

SAH O i OT TITURT hT FAYAT FgT &7

Options:

1. » R W & AT Fonieid &d &
2. = Tcol ATIAT BT &



3. % TIJUNT ITH TFT aTer SATeTaT B
4. v TATIRT 3HATHT TOT &

Question Number : 56 Question Id : 54592742072 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The source of the Narmada River is located in which of these
states?

Options:

1. = Andhra Pradesh
2. = Uttar Pradesh

3. * Haryana

4. v Madhya Pradesh

Question Number : 56 Question Id : 54592742072 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

THET dar &1 O 3487 T Fg o9 7 g &7

Options:

1. = 3T ucer
2. % 3cal waer

3. = IO
4. v AT yaer

Question Number : 57 Question Id : 54592742073 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Mohenjo-daro, Harappa, Thatta, and Taxila are popular
tourist attractions along which river?

Options:

1. v Indus

2. » Ganga

3. *» Yamuna

4. » Saraswathi



Question Number : 57 Question Id : 54592742073 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Algel SIGal, &8CUl, &8l 3N J&Teer oy el & ThallX
MHRT gIead T &7

Options:

1.#%‘%
2. = JEI

3. = IHaAT
4, » IEIAT

Question Number : 58 Question Id : 54592742074 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The border between India and Bangladesh does not pass
through which of these states?

Options:

1. » Assam

2. » Meghalaya
3. = Tripura

4. v Orissa

Question Number : 58 Question Id : 54592742074 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TR 3R FFdrcer & & &I TAT a8 d FF ToF & gl
RIS &7

Options:

1. = 3GH
2. = HuTed
S.Q‘I"‘SIETF
4. v TSeT



Question Number : 59 Question Id : 54592742075 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

India shares its maritime border with how many nations?

Options:

1.1
2. % 2
3.5
4.7

Question Number : 59 Question Id : 54592742075 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T fohcTal 2T o |Ter 379611 HHAT HIAT TS HFIT 87

Options:

1. % 1
2. % 2
3. % 5
4. v 7

Question Number : 60 Question Id : 54592742076 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of these soils is mainly seen in low rainfall area?

Options:

1. » Laterite
2. » Black
3. = Alluvial
4. v Red

Question Number : 60 Question Id : 54592742076 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foest & & FlaT & HaT 7T & & FA a5t arer &7 7 3=
SATdr &7




Options:

1. = ofedISe
2. % ShTell

3. % quﬁqo{

4. v ool
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Question Number : 61 Question Id : 54592742077 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

When the leading edge of the incoming tide forms a wave/
waves of water that travel up a river or a narrow bay against
the direction of the river or bay’s current, it is called?



Options:

1. = Diurnal Tides

2. » Mixed Tide

3. = Semi-diurnal Tide
4. v Tidal Bore

Question Number : 61 Question Id : 54592742077 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SIS el dTell Sa T YA fheT qrell hr vk og/ore
FATdT & ST oTar IT WIST shl URT T f&em & [Foda v <1 ar
GhroT @TET deh SATAT &, dF 38 el ST &7

Options:

1. # SN Sd
2. % ﬁiﬁﬁ]?‘r odd
3. % 3Y-ZReTel SdN

4, v FART §F

Question Number : 62 Question Id : 54592742078 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Indus Valley Civilization belonged to which of these ages?

Options:

1. v Bronze Age

2. = Tin Age
3. = Steel Age
4. = Iron Age

Question Number : 62 Question Id : 54592742078 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ry a1t @srar foha ar <1 o1

Options:

‘I.JW?T



2. = f&oT aT

M

3. ® SEUTA g4l
4. = g Ja

Question Number : 63 Question Id : 54592742079 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the cities did not exist during the Indus Valley
Civilization?

Options:

1. = Kalibangan

2. v Kalinga

3. = Rupar

4. = Dholavira

Question Number : 63 Question Id : 54592742079 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e a1y @ecr & SNTeT Hiel AT 2@ HAig wEr AqT?

Options:

1. = RIS
2. v @foldl
3. * ®UT
4, = GIETdRT

Question Number : 64 Question Id : 54592742080 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Bindusara and Devi Dharma were the parents of which of
these powerful ancient Kings?

Options:

1. v Ashoka
2. * Siddhartha




3. » Chandragupta Maurya
4. = Rajendra Chola

Question Number : 64 Question Id : 54592742080 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

forear 3 2dT AT gad fora erfrcermell Uriiel IT&TT & ATT-
foar a7

Options:

1. v 3TeNRT
2. » &g
3.wzia?;rcrmér

4. = Toig dlel

Question Number : 65 Question Id : 54592742081 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Chandragupta Maurya entered into a peace treaty with which
one of these Greek generals?

Options:

1. = Alexander the Great
2. v Seleucus I Nikator
3. » Megasthenes

4. = Deimakos

Question Number : 65 Question Id : 54592742081 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Teded A A gad & fohd Uk dlh SfeRer & @ry enfa |fer
7 uader foRar o1

Options:

1. = 3olFaisy § AT

2. v @iwgchﬂ BEETE




3. % AIETATT
4. = AR

Question Number : 66 Question Id : 54592742082 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who among these was appointed Mayor of Calcutta in the Pre
Independence Era?

Options:

1. = Raja Rammohan Roy
2. » Subhash Chandra Bose
3. » Maulana Azad

4. v Chittaranjan Das

Question Number : 66 Question Id : 54592742082 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gl W fohd TIAAAT & G LT H Folshed FT AAT T
ram = ar?

Options:

1. % Il TAAGAS T
%Wﬁam

2.
3. = HieTAT 3MTSIIE
4.,

v Rcadslel T

Question Number : 67 Question Id : 54592742083 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who was the first woman President of the Indian National
Congress?

Options:

1. v Annie Besant
2. = Sarojini Naidu
3. * Begum Hazrat All



4, » Kasturba Gandhi

Question Number : 67 Question Id : 54592742083 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TR ST RIAH hT Tgell Higell TCTET il oAT?

Options:

1. v Ual S4¢

2.« TfSAe g
3. % SITH Fold 3ol
4. = FHEIST AT

Question Number : 68 Question Id : 54592742084 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who among these is a foreign National awarded with the
Bharat Ratna?

Options:

1. v Nelson Mandela
2. = Bill Clinton

3. * Shane Warne
4. » Benazir Bhutto

Question Number : 68 Question Id : 54592742084 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SoIH # A Icd 8 ATl gu el aree i &7

Options:
1. v siede H3el
2. » Toor TFeiesT
3. % Qe TleT

4. » SeTSIT ofeT

Question Number : 69 Question Id : 54592742085 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




Who among these is the first recipient of the Bharat Ratna?

Options:

1. v C.Rajgopalchari

2. » Bidhan Chandra Roy
3. » Dhondo Keshav Karve
4. » Lal Bahadur Shastri

Question Number : 69 Question Id : 54592742085 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

SaIH H Hid AT oo YTl TTel Ugel cdidd &7

Options:

1. v SI.OSENATeaRT
2. = Toyre 9 U4
3. = I8l 2T Fd
4. = oITel SgIGL ATEAT

Question Number : 70 Question Id : 54592742086 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Devi Ahilya Bal Holkar Award is given away by the President
every year for

Options:

1. = Best Institution for Research & Development in the field
of women empowerment

2. v Best Private Sector organization/ Public sector
undertaking in promoting the well-being and welfare of
womern

3. » Best Urban Local body for providing services and
facilities to women

4. = Best State which has appreciably improved Child Sex
Ratio (CSR)



Question Number : 70 Question Id : 54592742086 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

& "rel Tsgafd ganT o Torw 2dr sfgear
STg gleshy TEHN AT Srr &

Options:

1. = AT TLAFATRIOT F &F H 3T 3N G & folw
TaASS TEATT

2. v Afgem3it T o7 3T Fedmor F FEET S F AT
gaate el 89 GIaeT/aidolieish & T 3TshHA

3. = AT ST QAU 3R FAUW Yol Fa & v qasss
ET T ToTeh T

4. = gTel foleT 3equTd (HIVHIR) F JIRA & 60 qoass I3

Question Number : 71 Question Id : 54592742087 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Mata Jijabal Award is given away by the President every year
for

Options:

1. = Best Institution for Research & Development in the field
of women empowerment

2. = Best Private Sector organization/ Public sector
undertaking in promoting the well-being and welfare of
womern

3. v Best Urban Local body for providing services and
facilities to women

4. = Best State which has appreciably improved Child Sex
Ratio (CSR)

Question Number : 71 Question Id : 54592742087 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



& dTel Toguld ganT % oo AT
SITSTETg QUi fer Sirdr |

Options:

1. * AT TLAFATHRIOT & &T H 3T 3N G & folv
JaAt™s Tt

2. = HAfgarst Fr gars 31T FeAor FY FE@T A F I
Taats fael 8T eaa/ardciiersh & T 3THA

3. v AT &I FAU 3R FAUW Yo Fa & folv qaass
ET TATAT Toehr

4. = gl foleT 3equTd (HIVHIR) F JIRA & 60 Faats T

Question Number : 72 Question Id : 54592742088 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who among these has won a Nobel Prize for their
interpretation of the genetic code and its function in protein
synthesis?

Options:

1. = C.V. Raman

2. v Har Gobind Khorana

3. » Subrahmanyan Chandrasekhar
4, = V.S, Naipul

Question Number : 72 Question Id : 54592742088 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SAH O Tohael 3feqarteles & 3T M TeaY0r # SHh hId ohl

D o,
TEAT & Tolv dlsel ERI STl &7
Options:

1. = &L dr. THA

2.@61?11%?&@



3. * GEEATIS TGN

4. = AL.UG. A9l

Question Number : 73 Question Id : 54592742089 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who is regarded as Father of the Indian space program?

Options:

1. * Homi Jehangir Bhabha
2. v Vikram Sarabhali

3. = C.V. Raman

4. = A PJ. Abdul Kalam

Question Number : 73 Question Id : 54592742089 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

P8 IR 3dNE FR—IFH & S & T H ATAT AT 57

Options:

1. = BIAT SN reT
2. v [O&%HE A

3. = HILALIAA

4. = TULS.37sgel FellA

Question Number : 74 Question Id : 54592742090 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The original hand-written copies of the Constitution are kKept
in

Options:

1. v Library of Parliament House
2. » Vidhan Soudha

3. » National Library, Kolkata

4. = 10,Janpath




Question Number : 74 Question Id : 54592742090 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

GiguTel ST H{oT FEATEd I P}
HT 95 Bl

Options:

1. v GHE el 1 GEARTorL
2. = fourer Gt
3. = ATl ATSHNI, hlelehldl
4, = 10, a9

Question Number : 75 Question Id : 54592742091 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“Untouchability” is abolished and its practice in any form is
forbidden is stated in which Article?

Options:

1. = Article 45
2. » Article 5

3. v Article 17
4. » Article 15

Question Number : 75 Question Id : 54592742091 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

forer 3foTede H el a1 & ToF "30ETRTar T GATST Y e
T & 3R T o §T 7 STFT A ANg §7

Options:

1. » 37eTeg 45
2. » 3TOT 5
3. v 3eede 17
4. = 3aeDg 15




Question Number : 76 Question Id : 54592742092 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who among these is not appointed by the President?

Options:

1. v Chief Ministers

2. » State governors

3. = Chief Justice

4. = Supreme Court and High Court Judges

Question Number : 76 Question Id : 54592742092 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ZaAH & il TSgUTT GaNT Tolgered w1gl TohdT SITAT &7

-2

Options:

1.@@@?’:‘?\'
2. = o & ToduTel

3. » HEH FITITTeT
4. » Oafed «EOTT 3T 3w SAEGTe & graraTer

Question Number : 77 Question Id : 54592742093 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The minimum strength of council of ministers in a state as
per Constitution is

Options:

1. = 30
2. % 2
3.»v12
4 %5

Question Number : 77 Question Id : 54592742093 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HiguTel & AR fohell o7 & ARORYE T gafan
qE&AT gl




Options:

1. = 30
2. % 2
3. v 12
4. = 5

Question Number : 78 Question Id : 54592742094 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who became the first Indian to win an individual gold medal
at the Olympic Games?

Options:

1. v Abhinav Bindra
2. » Mary Kom

3. » Virendra Sehwag
4. = Leander Paes

Question Number : 78 Question Id : 54592742094 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

JHrellUeh Woll H FTFAIT TAUT UGoh Sildal dlel Tgel HRAT
hlel Fal?

Options:

1. v 3THag NHar
2. = T A
3. » dNg TEamEr
4, » forusy 9F

Question Number : 79 Question Id : 54592742095 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the these sports personality’s original name was
Cassius Clay?

Options:




1. = Roger Binny

2. = Mike Tyson

3. v Muhammad Ali
4. = Andre Agassi

Question Number : 79 Question Id : 54592742095 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gofd & T B & ITEEIT FT HoT ATH HiETH Fol AT?

Options:

1. % o To=ar

2. » HIgh TTIH
3. v #EFAT 3ol
4. = 3leg 3TET

Question Number : 80 Question Id : 54592742096 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who was the first cricketer to score a double century in one
day internationals?

Options:

1. = Mithall Raj

2. » Rohit Sharma

3. v Belinda Clark

4. » Sachin Tendulkar

Question Number : 80 Question Id : 54592742096 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ueh e 3dWTSerg Har H SIgdT eTdeh Seilel dTel Ugel

foRehcT hileT 27

Options:

1. = TAATN Tt




2. = QfgT orAT
3. v STelET Fellh

4. = i ﬁ%ﬁ¢{

Arithmetic Ability1
Group Number : 5
Group Id : 5459272085
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithmetic Ability1
Section Id : 5459272085
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number: 1
Sub-Section I d: 5459272501
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 54592742097 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the least number that should be added to 820, so that
the sum is completely divisible by 18?

Options:

1.+ 8
2. % 4



3.%0
4 % 12

Question Number : 81 Question Id : 54592742097 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

98 sgelaH HEIT sy, ford Iig 820 # SISt S0 ar It 18
¥ T g g el g Sreen?

Options:

1. v 8
2. % 4
3. = 6
4. = 12

Question Number : 82 Question Id : 54592742098 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How many three digit numbers are divisible by 9?

Options:

1. = 111
2.+ 100
3. =101
4. % 110

Question Number : 82 Question Id : 54592742098 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

O O Torder AT 31T Fr g&aT AT &7

Options:

1. 111
2. v 100
3. = 101
4. = 110




Question Number : 83 Question Id : 54592742099 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

There are four prime numbers. The product of the first three
numbers are 33263 and the product of the last three numbers
are 47027. Find the fourth number.

Options:

1. = 31
2.v41
3. % 37
4, % 29

Question Number : 83 Question Id : 54592742099 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AN AT TSIV g1 TUH dAlel AT FT IR 33263 &
AR A et TEFTHt T AUAE 47027 B AT FEAT AT
FII

Options:

1. = 31
2. v 41
3. = 37
4. = 29

Question Number : 84 Question Id : 54592742100 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the smallest number which when increased by 8 is
divisible 6,9,15,20 and 24?

Options:

1. v 352
2. % 336
3. = 368



4. % 388

Question Number : 84 Question Id : 54592742100 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T Sl T&IT A1 =, o8 8 @ sara o 6, 9, 15, 20 3w
24 ¥ faorsg &7

Options:

1. v 352
2. = 336
3. = 368
4. = 388

Question Number : 85 Question Id : 54592742101 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A vendor has 90 litres of Pepsi, 144 litres of thumbs up and

324 litres of coke in his machine. He wants to pack them in

bottles containing the same litres of drink in each bottle. He
doesn't want to mix any of the two drinks. What is the least
number of bottles required?

Options:

1. = 38
2. % 27
3.v31
4. % 42

Question Number : 85 Question Id : 54592742101 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Teh TaehdT o I 90 elled 9odl, 144 olled ¥FH 377 3N 324
ollcd ik 3Rl AT H &1 98 3op Ucde AT ollcd hl
Adel H Uk FIaAT ATBAT &1 I8 aradl H & FAT ¢ o9 hr
TR 18T TEaT| 38 FH T A Tohdel Sldell sl STeld 1977

Options:

1. = 38
2. % 27
3. v 31
4, = 42

Question Number : 86 Question Id : 54592742102 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the value of: {0.125 x 80 + 0.0128 x 625) - (0.0032 + 0.0128
x 8) =7

Options:

1. %8
2. % 25
3.%5
4.+ 16

Question Number : 86 Question Id : 54592742102 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

(0.125 x 80 + 0.0128 x 625) - (0.0032 + 0.0128 x 8 = 7
T HATd ATT HL|

Options:

1. = 8
2. = 25
3. = 5




4. v 16

Question Number : 87 Question Id : 54592742103 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the LCM of 32, 67 and 20.

Options:

1. = 5152
2. v 10720
3. % 2208
4. % 4416

Question Number : 87 Question Id : 54592742103 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

32, 67 AR 20 FT oA FATIGS (LCM) A1 o

Options:

1. = 5152
2. v 10720
3. = 2208
4. = 4416

Question Number : 88 Question Id : 54592742104 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the value of: (0.005 + 0.01) x 2.16 = ?

Options:

1. = 0.324
2. % 0.0412
3. v 0.0324
4, % 0412

Question Number : 88 Question Id : 54592742104 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

(0.005 + 0.01) x 2,16 = ? T AT AT Fi|




Options:

1. = 0.324
2. = 0.0412
3. v 0.0324
4. = 0.412

Question Number : 89 Question Id : 54592742105 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The sum of two numbers is 72. Their HCF is 12 and L.CM is
252. Find the sum of their reciprocals?

Options:

1. = 1/32
2. = 1/54
3. v 1/42
4. % 1/62

Question Number : 89 Question Id : 54592742105 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Al TEATHT T AT 72 | 3T Agcdd THATTGaSR 12 3T
STE[ccTA TATIEd 252 & 3eleh IYREIRR T AT ATd F|

Options:

1. = 1/32
2. = 1/54
3. v 1/42
4. = 1/62

Question Number : 90 Question Id : 54592742106 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The wheels revolve around common axis. They make 15, 18,
24 and 30 revolutions in a minute respectively. Starting at the
same point moving downwards, after what interval of time
will they come together in the same position ?

Options:

1. = 30 seconds
2. » 45 seconds
3. v 20 seconds
4. » 60 seconds

Question Number : 90 Question Id : 54592742106 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ar 9igV Teh 2T 37847 W FAA &1 F Tk fAeic A swAe: 15, 18,
24 AT 30 TF mﬁi%lwé"rﬁl‘gwﬁ?}aﬁ‘rmaﬁy
order AT & I & FI€ d Uk ol TUfd & TF Trer 3Tear?

Options:

1. = 30 9%8
2. = 45 A8
3. v 20 A5
4. % 60 AHs

Question Number : 91 Question Id : 54592742107 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Glving two successive 35% discount is equal to giving one
discount of?

Options:

1. v 57.75%
2. % 59.25%
3. * 62.45%




4. % 46.95%

Question Number : 91 Question Id : 54592742107 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

&l SRR 35% BT &1 Uk BT oal & SN &7

Options:

1. v 57.75%
2. = 59.25%
3. = 62.45%
4. = 46.95%

Question Number : 92 Question Id : 54592742108 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A shopkeeper marks up his goods by 65% and offers 35%
discount. If the cost price of the good is Rs 700, then what is
the selling price?

Options:

1. = 72545
2. v 750.75
3. = 810.25
4. = 880.55

Question Number : 92 Question Id : 54592742108 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk EehTelel 379« a&d I 65% d Tfgead :ar § 31X 35%
FC Yelel LT &1 Al aEG HT FeTd Hed 700 AU g, o
TOshd Hed T 87

Options:

1. = 725.45
2. v 750.75




3. = 810.25
4. = 880.55

Question Number : 93 Question Id : 54592742109 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The average runs of a player is 58 in 10 innings. How many
runs must be make in his next innings to increase his average
to 637

Options:

1. = 96

2. % 104
3.v113
4. % 129

Question Number : 93 Question Id : 54592742109 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk TESMaT T ad T 10 9T # 58 &1 39al 379Tell IRT
H 63 & Mad & Fara & T fraa I g4 a1gu?

Options:

1. = 96
2. = 104
3. v 113
4. = 129

Question Number : 94 Question Id : 54592742110 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A candidate received 45% of the valid votes, 25% of the total
votes were invalid. If 12000 votes were casted, how many
valid votes did the other candidate received?

Options:

1. = 3590



2. * 5600
3. % 6250
4. v 4950

Question Number : 94 Question Id : 54592742110 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ush 3FATGAI T d¢T AT T 45% Wt g3, Fel Al T 25%
ey 2| g 12000 dic STel 310, A gAY 3FAGAN i fohcal
dg @i Ae?

Options:
1. = 3590
2. = 5600
3. = 6250
4. v 4950

Question Number : 95 Question Id : 54592742111 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A man spends 30% of his income on food, 28% on child’s
education and 60% of the remaining on Rent. What
percentage of his income is he left with?

Options:

1. » 15.20%
2. % 19.30%
3. = 20.60%
4. v 16.80%

Question Number : 95 Question Id : 54592742111 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



TUeh =T 3Tl 3T T 30% $ielel W, 28% o T ferer
¥ M AY 60% FROT 9T TR AT &1 3ThT AT &1 fohdel
gicrerd &= §7

Options:

1. = 15.20%
2. = 19.30%
3. = 20.60%
4. v 16.80%

Question Number : 96 Question Id : 54592742112 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The population of a town is 120000. 3/5th of them are males
and the rest are females. If only 40% of the town’s female are
married then what percentage of males are married?

Options:

1. = 19 (6/7)%
2. % 24 (4/7) %
3. % 32 (2/3)%
4, v 26 (2/3)%

Question Number : 96 Question Id : 54592742112 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk &Y T ST 120000 &1 3a78 & 3/5 9 I%9 § 3T qrenl
ATgeTT &1 AfE 2r@T HT dhaer 40% AT fFanfed &, o gesi
T Fraar wiaera Garfga &7

Options:

1. = 19 (6/7)%
2. % 24 (47) %




3. % 32 (2/3)%
4. v 26 (2/3)%

Question Number : 97 Question Id : 54592742113 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Anandbhai sold two buffaloes at Rs 24000 each. He made a
profit of 20% on one and a loss of 20% on the other. What is
the total cost of the two buffaloes?

Options:

1. = Rs 56000
2. » Rs 42000
3. v Rs 50000
4. = Rs 63000

Question Number : 97 Question Id : 54592742113 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AeeHTs o aF §9, Ucdsh 24000 9T H 971 38d Teh W
20% e 3 g T 20% KT AT ﬁ?ﬂTla’FﬁﬂﬁEﬁrgﬁr

T T &7

Options:

1. = 56000 ®9Uv¢
2. » 42000 T9U¢
3. v 50000 39w
4. = 63000 TUC¢

Question Number : 98 Question Id : 54592742114 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

A used car marked up his car by 30% on cost price and
allowed the purchaser a discount of 15% on the marked price
and he thereby gained Rs 33600. Find the cost price of the car?

Options:



1. v Rs 3,20,000
2. » Rs 3,00,000
3. = Rs 3,50,000
4. = Rs 3,75,000

Question Number : 98 Question Id : 54592742114 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

sk UG N & AR Hed 9T Ul FN H 30% TR
R fham 3T ZeR = Ridad 7ea W 15% T §e o
3 38e 33600 TV 9o fhT1 FR T R Hed AT Hi?

Options:

1. v 3,20,000 9T
2. = 3,00,000 z9vw
3. = 3,50,000 z4v
4. = 3,75,000 39U

Question Number : 99 Question Id : 54592742115 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ram purchased 20 scores of bananas at Rs 640. He then sells
20 dozens at Rs 36/dozen. What is his profit percentage?

Options:

1. = 81%

2. % 79.80%
3. % 92.30%
4. v 87.50%

Question Number : 99 Question Id : 54592742115 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

TH o Fel & 20 379 640 U0 H T 3T« 3T+ a1 20
Zolell T 36 TUT/Zolel H ST| 3R ot wiaerd T &7




Options:

1. = 81%

2. = 79.80%
3. = 92.30%
4. v 87.50%

Question Number : 100 Question Id : 54592742116 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If X and Y together have Rs 1221. If 2/3th of X's amount is
equal to 5/9th of Y's amount, how much does Y have?

Options:

1. » Rs 444
2. v Rs 666
3. = Rs 555
4. = Rg 999

Question Number : 100 Question Id : 54592742116 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ifg X T Y & g7 fHemeRT 1221 suv & Jfg X hr Tfsr
23 ar BEarT Y Fr At &+ 5/9 F Brd F WET &, ar Y &+
g g Tohddr §7

Options:

1. = 444 U
2. v 666 39U
3. = 555 T4V
4. = 999 ¥UU

Arithmetic Ability2

Group Number : 6



Group Id:

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group?:
Edit Attended Group? :
Break time:

Group Marks:

IsthisGroup for Examiner?:

Revisit allowed for group Instructions? :

Maximum Instruction Time:
Minimum Instruction Time:

Section Id :

Section Number :
Section type:
Mandatory or Optional:
Number of Questions:

Number of Questionsto be attempted:

Section Marks:

Sub-Section Number:
Sub-Section | d:
Question Shuffling Allowed :

5459272086
0

0
No
No
0
20
No
Yes
0

0

Arithmetic Ability2

5459272086
1

Online
Mandatory
20

20

20

1
5459272502
Yes

Question Number : 101 Question Id : 54592742117 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

The compound ratio of 2/3 X 6/7 x4/5 X 1/8 X 7/9 1s:

Options:

1. v 2/45
2. = 1/46
3. % 5/72
4. % 3/56

Question Number : 101 Question Id : 54592742117 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

2!3}{6!7x4f5}{118}{7/9$rtl‘iﬁ|$3-1§m?-|'%':

Options:

1. v 2/45
2. = 1/46



3. = B/72
4. = 3/56

Question Number : 102 Question Id : 54592742118 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

X gets 2 times as much money as Y and Y gets rs 32 more than
Z. They all in total get Rs 796. What is Y's share (in Rs)?

Options:

1. = 187
2. % 156
3. % 232
4, v 207

Question Number : 102 Question Id : 54592742118 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

X ®IY & 2 a7 ST 4 fAedr g, 3T Y *r Z Fr Jor A
32 UV 3l fAST €1 378 Fel 796 ¥UC Hed §1 Y FT
feeaT forder s9v fordeT & (390 #)?

Options:

1. % 187
2. % 156
3. % 232
4. v 207

Question Number : 103 Question Id : 54592742119 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

At the end of 5 years what will be the approximate compound
interest at the rate of 16% p.a. on an amount of Rs 360007

Options:

1. » Rs 37712.32



2. v Rs 39612.30
3. = Rs 362044
4. = Rs 41586.3

Question Number : 103 Question Id : 54592742119 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

5 gul & 3d & 36000 $q¢ =1 Ofer o7 16% ufg a¥ fraw @

31a3d-||'|'§1‘d Thgi& ATl AT Ba?

Options:

1. = 37712.32 39U
2. v 39612.30 39U
3. = 36264.4 TUU
4. = 41586.3 UV

Question Number : 104 Question 1d : 54592742120 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How much more money approximately would Rs 20000 fetch
if it is deposited at 15% p.a compounded half-yearly than 15%
p.a compounded annually?

Options:

1.+ Rs 112.5
2. % RS 165.5
3. * Rs 98.6
4. » Rs 131.49

Question Number : 104 Question Id : 54592742120 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IfE 15% ufa a¥ ==urer W FTAT TR J1ar &, ar uia a¥ 15%
g ¥ & 3Tk a¥e T T FAT U ST W haar e
e Fleelshe 20000 YT T

Options:




1. v 112.5 39T
2. = 165.5 3UU¢
3. = 98.6 34U

4. = 131.49 T4UU

Question Number : 105 Question 1d : 54592742121 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A man deposited Rs 6000 in the bank at 9% p.a. simple
interest for 3 years. Another man deposited Rs 4500 at 12%
p.a. compunded yearly for the same time. What is the
approximate difference in the interest received?

Options:

1. » Rs 222.19
2.v Rs 202.18
3. * Rs193.68
4. %= RS 216.56

Question Number : 105 Question Id : 54592742121 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Teh HEAT o 3 a¥ & Tolw 9% wid a¥ HTYRUT s W ok #
6000 %90 AT fhU| Ush @Y fad o 3da & TAT & folv
a¥ 12% ufa a¥ W 4500 T90 STAT 0| ured SO A
HAATTAT AT AT &7

Options:

1. = 222.19 ®UU
2. v 202.18 39U
3. » 193.68 TUU¢
4. = 216.56 T4UU¢



Question Number : 106 Question Id : 54592742122 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

An airplane flies a certain distance at a speed of 600 km/h in 4
hours. To cover the same distance in 3 hours, at what speed
must it travel?

Options:

1. = 700 km/h
2. v 800 km/h
3. » 740 km/h
4. = 630 km/h

Question Number : 106 Question 1d : 54592742122 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk FdTs STalel 4 €¢ # 600 km/h 7 aifd @ v fafead gft
T HLAT &1 3 O H TE QP dF e & folv, 37 Thg aia &
AT FLAT ATET?

Options:

1. = 700 km/h
2. v 800 km/h
3. = 740 km/h
4. = 630 km/h

Question Number : 107 Question 1d : 54592742123 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

One train sets off at 2 am from a station at the speed of 75
kmph. Another train sets off at 4 am from the same station in
the same direction at 95 kmph. At what time the trains will
meet?

Options:

1.+ 11:30 AM
2. % 10:45 AM



3. % 12:00 noon
4 = 13:25 PM

Question Number : 107 Question Id : 54592742123 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ueh Te@Mmsr 75 kmph ST 97T & Uk ¥ & 2 Y@IEel I@Tel
Il &1 gEdr TerEmsr 36T Vet & 4 qdtea 3491 foerm 7 95
kmph T ITFdR & T@raT Al &1 JeEnsdl ohda THoT §15
IEELIf

Options:

1. v 11:30 tl@’i%Trf
2. = 10:45 q@rEs
3. = 12:00 390EA
4. = 13:25 JWIEA

Question Number : 108 Question Id : 54592742124 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A man went on a solo tour. He travelled the first 40 kms in 2
hours, the next 100 kms in 5 hours and the last 60 kms in 3
hours. What was the average speed of the journey?

Options:

1. v 20 kmph
2. * 26 kmph
3. * 30 kmph
4. = 16 kmph

Question Number : 108 Question Id : 54592742124 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Teh AT Ushel & W 1T T| 38 Ugt 40 kms T ITET 2
g H I, 396l 100 kms &7 gft 5 ¢ H 3T 37fdH 60 kms
T T 3 ¢ H T HT| AT T 3Ed il F2ar o0

Options:

1. v 20 kmph
2. » 26 kmph
3. * 30 kmph
4. = 16 kmph

Question Number : 109 Question Id : 54592742125 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

X and Y together can complete the work in 9 days. X alone
takes to complete the work in 18 days. If Y only works for half
a day daily then in how many days X and Y together will
complete the work?

Options:

1. = 10 days
2.v 12 days
3. % 11 days
4. = 9 days

Question Number : 109 Question Id : 54592742125 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

X 3T Y Aot 9 f&al & 1 I T Fehd g1 X FI 37hel
18 f&all # sHTH QI KT gIar &1 Ffg Y didfer shael 3
feet 1 owear & aF X 3R Y fAee forda feat & e qu
FLa?

Options:

1. = 10 fear




2. v 12 fea
3. % 11 fea
4. = 9 feaT

Question Number : 110 Question Id : 54592742126 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

After working for 7 days, Ajay finds out that only 1/6th of the
work is done. He employs Binay who 1s 70% as efficient as
Ajay. In what time will Binay be able to complete the work?

Options:

1. = 45 days
2. v 50 days
3. » 53 days
4. = 62 days

Question Number : 110 Question Id : 54592742126 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

7 AT g FTH o & F1E, 3T I IaT doldTl & o ol
1!6aT%WT$mq§§m%|a€%maﬁmg¢d HILAT & oI
maﬁ‘raﬁm%?m%lﬁmﬁmﬁmﬁmﬁw
Flel H T&TH 7

Options:

1. = 45 faa
2. v 50 faaT
3. % 53 faaT
4. % 62 feet

Question Number : 111 Question 1d : 54592742127 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




B can do a task alone in 51 days, C is thrice as efficient as B. B
has worked for 15 days alone and then C joined him. In how
many days will they finish the task together?

Options:

1. v 9 days

2. * 15 days
3. % 12 days
4. = 10 days

Question Number : 111 Question Id : 54592742127 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

B 3ol 51 feall & Ush &1 FT Tl &, C, B & T Ferar
&1 B & 15 fgar & oI 37l TH RaT, 38 1€ C 384
| 53 7| Thde fedt A 3 TR @ R Q@ R

Options:

1. v 9 fea
2. % 15 f&aT
3. % 12 T
4. % 10 fea

Question Number : 112 Question Id : 54592742128 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the area of a trapezium whose sides are 22 cm and 16
cm long, and distance between them is 12 cm?

Options:

1. % 252 sq cm
2. v 228 sqq cm
3. % 274 sq cm
4. = 208 sq cm



Question Number : 112 Question Id : 54592742128 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uch THFT I &TFel ATd e, o1l d188 22 cm 3T 16

cm ST &, 3 3otk S T gt 12 cm g7

Options:

1. = 252 sq cm
2. v 228 sq cm
3. = 2/4 sq cm
4, = 208 sq cm

Question Number : 113 Question 1d : 54592742129 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The radius and slant height of a cone measure 21 cm and 35
cm respectively. Find the volume of the cone.

Options:

1. » 6894 sq cm
2. % 9654 sq cm
3. = 15648 sq cm
4. v 12936 sq cm

Question Number : 113 Question Id : 54592742129 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T I Fedm 3R foRST 3915 FAT: 21 cm 3R 35 cm &l

%iga T 3TAdd ATT hi|

Options:

1. = 6894 sq cm
2. » 9654 sq cm
3. = 15648 sq cm
4, v 12936 sq cm




Question Number : 114 Question Id : 54592742130 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A metallic sphere of radius 12 ¢cm is melted and drawn into a
wire, whose radius cross section is 16 cm. What is the length
of the wire?

Options:

1. = 6 cm
2. % 8cm
3.v9cm
4. = 12 cm

Question Number : 114 Question 1d : 54592742130 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

12 cm & TSa7T & U o T {OEemar Siar § 3 ek aX A
T ST &, foraehr Bear 3feueer #1e 16 cm g1 a1 T

TdTs T &7

Options:

1. = 6 cm
2. = 8 cm

3. v 9 cm

4. = 12 cm

Question Number : 115 Question 1d : 54592742131 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the given pie-chart of family X's expenses; what percentage
of food and electricity constitutes of the whole expenditure?

EXPENSES OF A FAMILY

Misc, 48
Clothing, &0

Education, 48

Ebectricity, 18 Rent, 20

Food, 96

Options:

1. = 32.75%
2. % 40.62%
3. % 28.67%
4. v 31.67%

Question Number : 115 Question Id : 54592742131 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T IRER X & TGl & U 9w A #; 97 97 &
raeT 3ttaa ufaera et 3K fostelr W =<7 &iar &7

Ush Yar &1 @
fafaer, 48
F9zT, 60

faraTm, 48

fersreir, 18

forgrar , 90
AT , 96
Options:

1. » 32.75%



2. = 40.62%
3. = 28.67%
4. v 31.67%

Question Number : 116 Question Id : 54592742132 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

From the given pie-chart of the employees of different
departments of a company, find out which departments has
the highest number of employees and which has the lowest?

EMPLOYEES OF DIFFERENT DEPARTMENTS
OF A COMPANY

Finance, 15

Marketing, 30

Operations, 20

HR, 10 Sales, 25

Options:

1. » Marketing and Finance
2. v Marketing and HR

3. » Marketing and sales

4. = Sales and Operations

Question Number : 116 Question Id : 54592742132 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



T T & Dffed FamET & sAIRar & v av g=-a1¢ 4,
AT FY T Fg e & sAoar fr gear gsa Jee &
M R THeT A a98 RH &2

90 & R Qe &
HAATY

’ faqorer |, 30

fash, 25

faea , 15
TS
20
AT
Tan |,

10

Options:

1. = @uore 3R Aed
2. v RAUuTe 3T AT qaETgA
3. = YU 3 Toehr
4. = TshT 3 TTere

Question Number : 117 Question Id : 54592742133 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

From the given table, how many students have scored below
10 marks in both subjects?

Marks out of 50

Subject 30and (20 and | 10and | 0 and
40 and above
above | abowve | above | above
Algebra 10 30 20 90 100
Geometry 4 20 70 80 100
Sueraee 7 25 75 85 100
(Aggregate)

Options:



1. = 10
2. % 20
3.+ 30
4. % 50

Question Number : 117 Question Id : 54592742133 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

&1 S arfereRT #, oF Twat # forde ot & 10 3 8 &
THRIT orar &7

R 507 O b
4037 (303X [203ix [103lt |03k
£ LY I | 3 | 3 | IUL
GIE DRG] 10 30 80 90 100
sartafa 4 20 70 80 100
sitaa
(quran) 7 25 75 85 100
Options:
1. = 10
2. = 20
3. v 30

4. = 50

Question Number : 118 Question 1d : 54592742134 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



From the given bar chart what was the growth in production
of wheat from 2016 to 20177?

75 B0
. 65

B 60
35 s |
e w
Em.IE
g 20
a

10 -

0

2011 2012 2013 2014 2015 2016 2017 2018
Year

Options:

1. » 45%
2. % 58%
3. v 50%
4, % 30%

Question Number : 118 Question Id : 54592742134 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

few arv & =€ # 2016 & 2017 T g & Scuread H fehcelr
gig ofr?

a0
80
80 - 75
70 60 65
60 -
50
E 50 40 45
E 40
ol
20
10
0
2011 2012 2013 2014 2015 2016 2017 2018
ot

Options:



1. = 45%
2. = 58%
3. v 50%
4. = 30%

Question Number : 119 Question Id : 54592742135 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

From the given chart, how many players have scored more
than 3000 runs in their carer?

EBEBEREE

Fl P2 P3 P4 P5 P& F? P& A P10 P11
Player

Options:

1.v4
2.% 3
3.5
4, % 2

Question Number : 119 Question Id : 54592742135 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



few a0 91¢ A, Tordd Ee=al o 39a HRIT & 3000 &
AR T FoT0 &7

8000 7200

Pl P2 P3 P4 P5 P& P7 P8 P8 P10 P11

Options:

1. v 4
2. % 3
3. » 5
4, % 2

Question Number : 120 Question Id : 54592742136 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

From the given chart what % hike in raw materials is
observed from 2016 to 20177

600
E 500 =
=
€ 420
300
£ E 200
= 2007 13
E
o 100
: O
0
2013 2014 2015 2016 2017 2018
Year
Options:

1. » 48.22%



2. v 51.51%
3. = 55.65%
4. = 41.69%

Question Number : 120 Question Id : 54592742136 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faw 7@ =r¢ A 2016 & 2017 o e ATl H Thdell % I
g5 a5 7?

600
500

5 500 420
£ 400 350 33
E5..
w E 200
E 2001 420

100 I I
E o

2013 2014 2015 2016 2017 2018
at
Options:
1. = 48.22%
2. v 51.51%
3. = 55.65%
4. = 41.69%
General Englishi

Group Number : 7
Group ld: 5459272087
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes

Maximum Instruction Time: 0



Minimum Instruction Time: 0

General Englishil

Section Id : 5459272087

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459272503
Question Shuffling Allowed : Yes

Question Number : 121 Question 1d : 54592742137 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may have
an error. Find out which part of the sentence has an error
and click the button corresponding to it. If the sentence is free
from error, select the "No error” option.

(A) I'm very worried as neither/ (B) of my friends have
returned / (C) from the cave./ (D) No error

Options:

1.vA
2. % B
3.5 C
4. %D

Question Number : 121 Question Id : 54592742137 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the following statement, one part of the sentence may
have an error. Find out which part of the sentence has an
error and click the button corresponding to it. If the

sentence I1s free from error, select the "No error" option.

(A) I'm very worried as neither/ (B) of my friends have

returned / (C) from the cave./ (D) No error

Options:

1. v A
2. = B
3. = C
4. = D

Question Number : 122 Question Id : 54592742138 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may have
an error. Find out which part of the sentence has an error
and click the button corresponding to it. If the sentence is {ree
from error, select the "No error” option.

(A) Though my grandmother has/ (B) became old, she / (C) is
healthy./ (D) No error

Options:

1.« A
2.v DB
3.5 C
4, %]



Question Number : 122 Question Id : 54592742138 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may
have an error. Find out which part of the sentence has an
error and click the button corresponding to it. If the

sentence Is free from error, select the "No error" option.

(A) Though my grandmother has/ (B) became old, she / (C)
Is healthy./ (D) No error

Options:

1. = A
2. v B
3. = C
4. = D

Question Number : 123 Question Id : 54592742139 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may have
an error. Find out which part of the sentence has an error
and click the button corresponding to it. If the sentence is {ree
from error, select the "No error” option.

(A) Gangotri has a/ (B) special significance in / (C) the history
of India./ (D) No error

Options:

1. A
2. % B
3.% C



4, ¢ D

Question Number : 123 Question Id : 54592742139 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may
have an error. Find out which part of the sentence has an
error and click the button corresponding to it. If the

sentence Is free from error, select the "No error" option.

(A) Gangotrn has af (B) special significance in f (C) the
history of India./ (D) No error

Options:

1. = A
2. = B
3. C
4. v D

Question Number : 124 Question Id : 54592742140 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may have
an error. Find out which part of the sentence has an error
and click the button corresponding to it. If the sentence is {ree
from error, select the "No error” option.

(A) It being a sunny day/ (B) we decided to / (C) stay in home/
(D) No error

Options:

1. = A
2.% B



3.vC
4 =D

Question Number : 124 Question Id : 54592742140 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may
have an error. Find out which part of the sentence has an
error and click the button corresponding to it. If the

sentence I1s free from error, select the "No error" option.

(A) It being a sunny day/ (B) we decided to / (C) stay In

home/ (D) No error

Options:

1. = A
2. = B
3. v C
4. = D

Question Number : 125 Question 1d : 54592742141 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may have
an error. Find out which part of the sentence has an error
and click the button corresponding to it. If the sentence is free
from error, select the "No error” option.

(A) Simran was shocked/ (B) to hear that his mother / (C) died

of an accident./ (D) No error

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:



1. A
2.B
3.C
4.D

Question Number : 125 Question Id : 54592742141 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may
have an error. Find out which part of the sentence has an
error and click the button corresponding to it. If the

sentence Is free from error, select the "No error" option.

(A) Simran was shocked!/ (B) to hear that his mother / (C)

died of an accident./ (D) No error
Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all

candidates.
Options:

1. A
2. B
3. C
4. D

Question Number : 126 Question Id : 54592742142 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Replace the words in the bracket from the set of options given.

Megha has lived in Singapore (since) a long time.

Options:

1. = with



2. v for
3. = from
4. = No correction

Question Number : 126 Question Id : 54592742142 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Replace the words in the bracket from the set of options

given.

Megha has lived in Singapore (since) a long time.

Options:

1. = with
2. v for
3. = from

4. = No correction

Question Number : 127 Question Id : 54592742143 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Replace the words in the bracket from the set of options given.

What (are) needed are not free metro rides but women safety.

Options:

1. = was

2. » were

3.v18

4. = No correction

Question Number : 127 Question 1d : 54592742143 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Replace the words in the bracket from the set of options

given.

What (are) needed are not free metro rides but women
safety.

Options:

1. = was

2. ® were

3. v IS

4. = No correction

Question Number : 128 Question Id : 54592742144 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Replace the words in the bracket from the set of options given.

He walked his dog (since) four hours.

Options:

1. v for

2. » from

3. = with

4. = No correction

Question Number : 128 Question 1d : 54592742144 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Replace the words in the bracket from the set of options

given.

He walked his dog (since) four hours.

Options:



1. ¢ for
2. = from
3. # with
4. = No correction

Question Number : 129 Question Id : 54592742145 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Replace the words in the bracket from the set of options given.

They may be eagle-eyed or watch like a (links)

Options:

1. = lank
2. » link
3. v lynx
4. » No correction

Question Number : 129 Question Id : 54592742145 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Replace the words in the bracket from the set of options

given.

They may be eagle-eyed or watch like a (links)

Options:

1. = lank
2. = link
3. v lynx
4. = No correction

Question Number : 130 Question Id : 54592742146 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Replace the words in the bracket from the set of options given.

The student (told his teacher) to explain the text.

Options:

1. = called his teacher
2. v asked his teacher
3. » pleaded his teacher
4. = No correction

Question Number : 130 Question Id : 54592742146 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Replace the words in the bracket from the set of options

given.

The student (told his teacher) to explain the text.

Options:

1. = called his teacher
2. v asked his teacher
3. = pleaded his teacher

4. = No correction

Question Number : 131 Question Id : 54592742147 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with appropriate word.

Cinderella’s ugly stepsisters had the habit of popping
their zits in public.

Options:

1. = pallid



2. « ostensible
3. = paragon
4. v odious

Question Number : 131 Question Id : 54592742147 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with appropriate word.

Cinderella's ugly stepsisters had the habit of
popping their zits in public.

Options:

1. = pallid

2. % ostensible
3. ® paragon
4. v odious

Question Number : 132 Question Id : 54592742148 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with appropriate word.

They had a agreement based on only a handshake.

Options:

1. = timid

2. v tacit

3. = temerity
4. = tenuous

Question Number : 132 Question 1d : 54592742148 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fill in the blanks with appropriate word.

They had a agreement based on only a
handshake.

Options:

1. = timid

2. v tacit
3. = temerity

4. = tenuous

Question Number : 133 Question Id : 54592742149 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with appropriate word.

Kailash was in his refusal to listen to our complaints.

Options:

1. = obsequious

2. » obfuscate
3. = oblique
4, v obdurate

Question Number : 133 Question Id : 54592742149 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with appropriate word.

Kailash was in his refusal to listen to our

complaints.

Options:

1. = obsequious



2. = obfuscate
3. = oblique
4. v obdurate

Question Number : 134 Question 1d : 54592742150 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with appropriate word.

being ill, she enjoyed the function.

Options:

1. v Despite
2. = Through
3. » Since

4. = Also

Question Number : 134 Question Id : 54592742150 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with appropriate word.

being ill, she enjoyed the function.

Options:

1. v Despite
2. * Through
3. ® Since

4. = Also

Question Number : 135 Question Id : 54592742151 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fill in the blanks with appropriate word.

Did you meet Seema your vacation?

Options:

1. = for

2. » while
3. v during
4. = from

Question Number : 135 Question Id : 54592742151 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with appropriate word.

Did you meet Seema your vacation?

Options:

1. = for
2. = while
3. v during

4. = from

Question Number : 136 Question Id : 54592742152 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with appropriate word.

Sakshi was worried Manish was alright.

Options:

1. = of
2. % from
3. v whether



4, = despite

Question Number : 136 Question Id : 54592742152 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with appropriate word.

Sakshi was worried Manish was alright.

Options:

1. = of

2. = from
3. v whether
4, = despite

Question Number : 137 Question 1d : 54592742153 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with appropriate word.

Sadie’s cowboy hat was with her black cocktail
dress.

Options:

1. ¥ Incongruous

2. % incumbent
3. * indecorous
4. %= insinuate

Question Number : 137 Question 1d : 54592742153 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fill in the blanks with appropriate word.

Sadie's cowboy hat was with her black cocktall

dress.

Options:

1. v Incongruous
Z2. * Incumbent

3. # Indecorous
4,

% |nsinuate

Question Number : 138 Question Id : 54592742154 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with appropriate word.

The winter scene made Krishna long for the vibrant
colors of spring.
Options:

1. = derelict
2. » discern
3. = disdain
4, v drab

Question Number : 138 Question Id : 54592742154 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with appropriate word.

The winter scene made Krishna long for the

vibrant colors of spring.

Options:



1. = derelict
2. = discern
3. = disdain
4. v drab

Question Number : 139 Question Id : 54592742155 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The questions below consist of a set of labelled parts of a
sentence. Out of four options given, select the most logical
order of the parts which form a coherent sentence.

Differentials in the rates of growth

P : each country lend additional dimensions
() : across different aspects of

R : to the inter-country comparisons

S : economic and social life within

Options:

1. = PQSR
2. = RSQP
3. = QSRP
4. v (JSPR

Question Number : 139 Question Id : 54592742155 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The questions below consist of a set of labelled parts of a
sentence. Out of four options given, select the most logical

order of the parts which form a coherent sentence.

Differentials In the rates of growth

P : each country lend additional dimensions
Q : across different aspects of

R : to the inter-country comparisons

S : economic and social life within

Options:

1. = PQSR
2. = RSQP
3. = QSRP
4. v QSPR

Question Number : 140 Question 1d : 54592742156 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The questions below consist of a set of labelled parts of a
sentence. Out of four options given, select the most logical
order of the parts which form a coherent sentence.

Differentials in the rates of growth

P : each country lend additional dimensions
(Q : across different aspects of

R : to the Inter-country comparisons

S : economic and social life within

Options:

1. * SPRQ



2. v QRPS
3. = PSQR
4. = RSQP

Question Number : 140 Question Id : 54592742156 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The question below consist of a set of labelled sentences.
Out of four options given, select the most logical order of

the sentences which form a paragraph.

There 1s no point In having three cement businesses In
three different companies.

P : For instance, if you have to sell a cement plant that
Grasim Industries owns and move It to another company,
there I1s going to be capital gains, tax and stamp duty.
Q : Individual companies within the group have to
rationalise their businesses, and will have to be given a lot
more autonomy In decision-making.

R : But you do have to cross lots of internal hurdles.

S : And it may be uneconomical to do so given the tax
structure the government of India has.

So, there has to be a re-think on that if the government

wants companies to be efficient.

Options:

1. = SPRQ
2. v QRPS



3. = PSQR
4. = RSQP
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Question Number : 141 Question Id : 54592742157 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The questions below consist of a set of labelled parts of a
sentence. Out of four options given, select the most logical
order of the parts which form a coherent sentence.

Development programs

P : five year plans in India

(Q : with the developed economies
R : under the aegis of

S : have aimed at catching up

Options:

1. v RPSQ
2. = QRPS
3. = RQPS
4. = PQSR

Question Number : 141 Question Id : 54592742157 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The questions below consist of a set of labelled parts of a
sentence. Out of four options given, select the most logical

order of the parts which form a coherent sentence.

Development programs

P : five year plans in India

Q : with the developed economies
R : under the aegis of

S : have aimed at catching up

Options:

1. v RPSQ



2. = QRPS
3. = RQPS
4. = PQSR

Question Number : 142 Question 1d : 54592742158 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the four alternatives, choose the word which best
expresses the MEANING of the given word.

Barbarous

Options:

1. = Tough

2. * Charming
3. = Civilized
4. v Brutal

Question Number : 142 Question 1d : 54592742158 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the four alternatives, choose the word which best

expresses the MEANING of the given word.

Barbarous

Options:

1. = Tough
2. » Charming
3. = Civilized
4. v Brutal

Question Number : 143 Question Id : 54592742159 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Out of the four alternatives, choose the word which best
expresses the MEANING of the given word.

Shrewd

Options:

1. = Scorn

2. = Simple
3. v Cunning
4. = Modest

Question Number : 143 Question Id : 54592742159 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the four alternatives, choose the word which best

expresses the MEANING of the given word.

Shrewd

Options:

1. = Scorn

2. = Simple
3. v Cunning
4. = Modest

Question Number : 144 Question Id : 54592742160 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the four alternatives, choose the word which best
expresses the MEANING of the given word.

Jaded

Options:

1. v Exhausted



2. = Renewed
3. » Tangled
4. = Regulated

Question Number : 144 Question Id : 54592742160 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

QOut of the four alternatives, choose the word which best

expresses the MEANING of the given word.

Jaded

Options:

1. v Exhausted

2. * Renewed

3. = Tangled
4. = Regulated

Question Number : 145 Question Id : 54592742161 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the four alternatives, choose the word which 18
OPPOSITE in meaning to the given word.

Clandestine

Options:

1. = Diffuse
2. » Liberal
3. = Covert
4. v Legal

Question Number : 145 Question Id : 54592742161 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Out of the four alternatives, choose the word which Is
OPPOSITE in meaning to the given word.

Clandestine

Options:

1. = Diffuse
2. = Liberal
3. & Covert

4. v Legal

Question Number : 146 Question Id : 54592742162 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the four alternatives, choose the word which is
OPPOSITE in meaning to the given word.

Murky

Options:

1. = Trivial
2. » Distinct
3. = Dusky
4. v Bright

Question Number : 146 Question Id : 54592742162 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the four alternatives, choose the word which Is
OPPOSITE in meaning to the given word.

Murky

Options:



1. = Trivial
2. = Distinct
3. = Dusky
4. v Bright

Question Number : 147 Question Id : 54592742163 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four words are given, out of which only one word is spelt
correctly. Choose the correctly spelt word.

Options:

1. = Evanscend
2. v Evanescent
3. = Evansecent
4. = Evanescernte

Question Number : 147 Question 1d : 54592742163 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four words are given, out of which only one word Is spelt

correctly. Choose the correctly spelt word.

Options:

1. = Evanscend
2. v Evanescent
3. * Evansecent

4. = Evanescente

Question Number : 148 Question 1d : 54592742164 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four words are given, out of which only one word is spelt
correctly. Choose the correctly spelt word.

Options:



1. = Diaphanious
2. = Diephanose
3. v Diaphanous
4. = Diaphotous

Question Number : 148 Question Id : 54592742164 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four words are given, out of which only one word is spelt

correctly. Choose the correctly spelt word.

Options:

1. = Diaphanious
2. » Diephanose
3. v Diaphanous

4. = Diaphotous

Question Number : 149 Question Id : 54592742165 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four words are given, out of which only one word is spelt
correctly. Choose the correctly spelt word.

Options:

1. v Legerdemain
2. = Legitermine

3. #» Legredemian
4. = Legerdemine

Question Number : 149 Question 1d : 54592742165 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four words are given, out of which only one word Is spelt

correctly. Choose the correctly spelt word.

Options:



1. v Legerdemain
2. = Legitermine
3. = Legredemian
4. = Legerdemine

Question Number : 150 Question Id : 54592742166 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What does the following idiom mean?

Far cry from

Options:

1. = To be very sad

2. = Feeling slightly 11l

3. » Keep something away

4. v To be very different from others

Question Number : 150 Question Id : 54592742166 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

What does the following idiom mean?

Far cry from

Options:

1. = To be very sad
2. = Feeling slightly ill
3. = Keep something away

4, v To be very different from others

Question Number : 151 Question 1d : 54592742167 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



What does the following idiom mean?

See eye to eye

Options:

1. v Agreeing with someone

2. *» To disrepect someone

3. » To pick up a fight with someone
4. = Something that is very expensive

Question Number : 151 Question Id : 54592742167 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What does the following idiom mean?

See eye to eye

Options:

1. v Agreeing with someone
2. = To disrepect someone
3. = To pick up a fight with someone

4, = Something that Is very expensive

Question Number : 152 Question Id : 54592742168 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What does the following idiom mean?

To chew the cud

Options:

1. = To laugh heartily

2. v To ponder over something
3. = To be honest and open

4. = To be comfortable



Question Number : 152 Question Id : 54592742168 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What does the following idiom mean?

To chew the cud

Options:

1. = To laugh heartily
2. v To ponder over something
3. » To be honest and open

4. = To be comfortable

Question Number : 153 Question Id : 54592742169 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of four alternatives, select the
alternative which 1is the best substitute of the words/sentences.

One who Is recovering health after illness

Options:

1. » Demagogue
2. » Coquette

3. = Connoisseur
4. v Convalescent

Question Number : 153 Question Id : 54592742169 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the following question, out of four alternatives, select the
alternative which i1s the best substitute of the

words/sentences.

One who I1s recovering health after illness

Options:

1. = Demagogue
2. » Coquette
3. » Connoisseur

4. v Convalescent

Question Number : 154 Question Id : 54592742170 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of four alternatives, select the
alternative which is the best substitute of the words/sentences.

One who collect coins as a hobby

Options:

1. = Philogynist

2. v Numismatist
3. = Narcissist

4. » Somnambulist

Question Number : 154 Question Id : 54592742170 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the following question, out of four alternatives, select the
alternative which i1s the best substitute of the

words/sentences.

One who collect coins as a hobby

Options:

1. = Philogynist
2. v Numismatist
3. = Narcissist

4. = Somnambulist

Question Number : 155 Question Id : 54592742171 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of four alternatives, select the
alternative which is the best substitute of the words/sentences.

A person who draws or produces maps

Options:

1. = Lexicographer
2. = Calligrapher
3. v Cartographer
4, = Sculptor

Question Number : 155 Question Id : 54592742171 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the following question, out of four alternatives, select the
alternative which i1s the best substitute of the

words/sentences.

A person who draws or produces maps

Options:

1. = Lexicographer
2. % Calligrapher
3. v Cartographer

4. = Sculptor
Sub-Section Number: 2
Sub-Section 1d: 5459272505
Question Shuffling Allowed : Yes

Question Id : 54592742172 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

QQuestion Label : Comprehension



Read the following Passage and answer the questions.

Mamzelle Aurlie possessed a good strong figure, ruddy
cheeks, hair that was changing from brown to gray, and a
determined eye. She wore a man’s hat about the farm, and an
old blue army overcoat when it was cold, and sometimes
top-boots. Mamzelle Aurlie had never thought of marrying.
She had never been in love. At the age of twenty she had
received a proposal, which she had promptly declined, and at
the age of {ifty she had not yet lived to regret it.

So she was quite alone in the world, except for her dog Ponto,
and the labourers who lived in her cabins and worked her
crops, and the fowls, a few cows, a couple of mules, her gun
(with which she shot chicken-hawks), and her religion. One
morning Mamzelle Aurlie stood upon her gallery,
contemplating, with arms akimbo, a small band of very small
children who, to all intents and purposes, might have fallen
from the clouds, so unexpected and bewildering was their
coming, and so unwelcome. They were the children of her
nearest neighbour, Odile, who was not such a near neighbour,
after all. The young woman had appeared but five minutes
before, accompanied by these four children. In her arms she
carried little Lodie; she dragged Ti Nomme by an unwilling
hand; while Marcline and Marclette followed with irresolute
steps

Sub questions

Question Number : 156 Question Id : 54592742173 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How old was Mamzelle Aurlie?



Options:

1. = Twenty years old
2. = Thirty years old
3. v Fifty years old

4. = Forty years old

Question Number : 157 Question 1d : 54592742174 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who was Aurlie’s nearest neighbour?

Options:

1. = Ponto
2. v Odile
3. = Marcline
4. = Lodie

Question Number : 158 Question 1d : 54592742175 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

At what age did Mamzelle Aurlie receive a proposal?

Options:

1. v Twenty
2. = Thirty
3. » Fifty

4. = Sixteen

Question Number : 159 Question 1d : 54592742176 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What was the name of Mamzelle Aurlie’s dog?

Options:

1. » Marclette
2. » Marcline
3. = TI Nomme
4, v Ponto



Question Number : 160 Question Id : 54592742177 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who among the following were unwelcome by Aurlie?

Options:

1. » Labourers who lived in her cabins
2. » Her brother

3. v Her neighbour’s children

4. = Her dog Ponto

Question Id : 54592742172 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

Question Label : Comprehension



Read the following passage and answer the following

questions.

Mamzelle Aurlie possessed a good strong figure, ruddy
cheeks, hair that was changing from brown to gray, and a
determined eye. She wore a man's hat about the farm, and
an old blue army overcoat when it was cold, and
sometimes top-boots. Mamzelle Aurlie had never thought of
marrying. She had never been In love. At the age of twenty
she had received a proposal, which she had promptly
declined, and at the age of fifty she had not yet lived to

regret It.

So she was quite alone In the world, except for her dog
Ponto, and the labourers who lived in her cabins and
worked her crops, and the fowls, a few cows, a couple of
mules, her gun (with which she shot chicken-hawks), and
her religion. One morning Mamzelle Aurlie stood upon her
gallery, contemplating, with arms akimbo, a small band of
very small children who, to all intents and purposes, might
have fallen from the clouds, so unexpected and bewildering
was their coming, and so unwelcome. They were the
children of her nearest neighbour, Odile, who was not such
a near neighbour, after all.The young woman had appeared
but five minutes before, accompanied by these four children.
In her arms she carried little Lodie; she dragged Ti Nomme
by an unwilling hand; while Marcline and Marclette followed

with irresolute steps



Sub questions

Question Number : 156 Question Id : 54592742173 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How old was Mamzelle Aurlie?

Options:

1. = Twenty years old
2. % Thirty years old
3. v Fifty years old
4. = Forty years old

Question Number : 157 Question Id : 54592742174 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who was Aurlie's nearest neighbour?

Options:
1. = Ponto
2. v QOdile

3. # Marcline

4. = Lodie

Question Number : 158 Question Id : 54592742175 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

At what age did Mamzelle Aurlie receive a proposal?

Options:

1. v Twenty
2. % Thirty
3. = Fifty
4, = Sixteen

Question Number : 159 Question 1d : 54592742176 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



What was the name of Mamzelle Aurlie's dog?

Options:

1. = Marclette
2. = Marcline
3. = T1 Nomme

4. v Ponto

Question Number : 160 Question Id : 54592742177 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who among the following were unwelcome by Aurlie?

Options:

1. = Labourers who lived In her cabins
2. = Her brother

3. v Her neighbour's children

4, = Her dog Ponto
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General Hindil

Section Id : 5459272089
Section Number : 1



Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459272506
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 54592742178 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MgTerd sf #, IR faweul § ¥, 39 fdaey o7 g+ o S ey 17 9at
4Ter T, &t ST a1 Gg! Tt gl

& T

Options:

1. * SO
2. % TEIHA

4. = A

Question Number : 161 Question Id : 54592742178 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tl weat &, I) [Ghedl & &, 30 [Aheqd &7 TTT ™
St e o wEér | fawag dr |fSr &1 @ar [aseq arl
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Options:

1. = gL
2. » ZgIA
3.«
4. = A



Question Number : 162 Question Id : 54592742179 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T vy ¥, IR [Adeul & &, 39 Ao T ad= i ST U9 & =
ST, T g [epoT il

Options:

1. v Uierde
2. = enfaar
3. = fafedq
4. % TIg

Question Number : 162 Question Id : 54592742179 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafeEa ved #, I) TFedl # 8, 39 AFed FT II9 R
ST 3UEeT & Sl 215G T Hal [Qhed Bl

Options:

1. v IEdel
2. = enfaar
3. = faena
4. = T

Question Number : 163 Question Id : 54592742180 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fyerad Ty #, IR Aaeul § ¥, 39 [OdeT & ad= & S 70 M7 9
T T dogd ¥ dTAT [TheT gll

TouTET

Options:

1. v I
2. dter
3. = TreT
4. % gTdr



Question Number : 163 Question Id : 54592742180 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fArafe@a wed A, IR TFedr # &, 39 TFed FT TTT
St U a1v efeg T GET dLd ®9 graT @hed &l

IERIEs

Options:

1. v I
2. = A
3. = Oy
4. = TIAT

Question Number : 164 Question Id : 54592742181 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FyTerad uy #, IR Aaeul § T, 39 Rwey & ad= o St ot e
P g1 [dheT T3l gl

Options:

1. = qeT
2. % oEq

3. % q2
4. v el

Question Number : 164 Question Id : 54592742181 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafel@a med A, I) BFedr A &, 39 @FeT FT TTT
S TacelT ersg &1 TaT dheq ool &l

Options:



4. v T

Question Number : 165 Question Id : 54592742182 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

YTl d Uy #, IR Tddhel § ¥, I Tddhey &l T B ST hisd H [T
Y e, th R A9 & B aTell fadhey gl

(TchgrepT) FTAT =TT Z3IT 912

Options:

1. » IFTET IR
2. % ITATed URATTIR

3.*3EU'IE|'IEI7-I’7
4. v AATHER

Question Number : 165 Question Id : 54592742182 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e @a mea A, I) TFedr A &, 39 TFeT FT TTT

ST HIsosh H QU 910 oreg & AR fARIVoT & e dTell fashed
grl

(ﬁ?ﬂaﬂ)ma’lﬂgmw

Options:

1. » MaTgad T&ITATH
2. = 3Taread YNAUES

3. % J[OTdI<I<h
o

4. v HIAATTAF

Question Number : 166 Question Id : 54592742183 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



YTl ad U ¥, IR [Od@eUl § €, 39 [9dhey & Iad= & I 1¢J MY e
& TITAATRIT STeS, T Teded Tal gl

T -

Options:

1. v 30

2. = TTd
3. * DT
4, = &

Question Number : 166 Question Id : 54592742183 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafel@a med A, I) BFedr A &, 39 @FeT FT TTT
S few v ereg & UATIQTRY e T [Aheq 8T o

T -

Options:

1. v 27
2.« aNd
3. % FHTT
4. « §ea

Question Number : 167 Question Id : 54592742184 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FYieirad Uy #, IR Tdaetl § ¥, 39 [dded &r Id= & ST 1¢0 T Ee
& TIeTI erec, @1 Gg! Ty gl

Options:

1. = UeH



2. % TAZur
3. % T
4. v Teld

Question Number : 167 Question Id : 54592742184 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFafe@a wed H, IR Aedr # &, 39 TFed FT TTT
St 2w aTv ereg & TAeNd ers T @A faRed T

a9 -

Options:

1. = TRHH
2. = fergaor
3. = AT
4. v Temg

Question Number : 168 Question Id : 54592742185 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FMgTetad v ¥, I aweut & @, 39 G5! [AweT & aa= & St &y My
-1 & 37e] BT FZI Trpey gl

TT-THT

Options:

1. v T 3T AT
2. % & 3T ST
3. % 23T
4, = T 3T EQr

Question Number : 168 Question Id : 54592742185 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fITaad weed H, I) Q[hedl A &, 39 Tar [Theq T IIo
T S QU a0 ereg-gad & A FT T TheT &l

G¥lel-aHel

Options:

1. v &I 30T «Ter
2. % &H AT g
3. » && 3N g
4, = T 3T ger

Question Number : 169 Question Id : 54592742186 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e 7 &, IR [Aaetl & ¥, 39 [dded & o= & I 16U T
ATFATS & ToTT T ST, a7 Gg! [AddeT gl

g I g1 ST+ aTelT -

Options:

1. = 3IQATe&r
2. % 3T
3. % gt
4. v 3qgTHT

Question Number : 169 Question Id : 54592742186 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Aol &g WesT A, TN @Fedul # &, 3T @heT T T
ST T&T 310 GTeraTer & [olv Ueh eleg &1 Tal [dhed ol

e T §Td STelel gTell -

Options:



1. = 3ANET
2. = 3
3. = 3fegdra
4. v FTITAT

Question Number : 170 Question 1d : 54592742187 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

M U §, IR [a@eul § 9, 39 TgI [admey &l ad= HL ST 146 T
& To1q 3SR farwe gl

gl ag B W F Fier o

Options:

1. = TGAT
2. % TG
3. xTg
4, v 7g

Question Number : 170 Question 1d : 54592742187 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feafel@a wesT &, I) @reul & &, 39 T2 TFheq FT T
F ST NoFd Tad & fow 3RT [SFeq &

3itg!

Options:

1. = 3Gl
2. % ¢
3. » 9@
4. v 98

ST & 9T H ler AT §




Question Number : 171 Question Id : 54592742188 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FyTead uy #, IR aeul § T, 39 [Adey & ad= & S 1T M7 9
& GHTTET Srec; a1 TddeT T8 3l

STl -

Options:

1. = AT
2. % UGNy
3. v 35U

4, = T53tell

Question Number : 171 Question Id : 54592742188 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafe@T mea A, I) TFedr # 8, 39 TFeT FT TTT =
ST S0 90 orsg o HATATT oreg T TdheT =TaT &1

SO -

Options:

1. = Hellh
2. = @™
3. v ST

4. = fSarelr

Question Number : 172 Question Id : 54592742189 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fyleird 7 ¥, oR Tadetl #§ ¥, 39 g1 [dded of T+ ® ST [k T
& TolT UG e, BT Gg! [AdeT gl

T IR Sitae 97 et G

Options:




1. * weET
2. % TYDR
3. % TT&T
4. v Yid=Ir

Question Number : 172 Question Id : 54592742189 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faITo g wedd H, IR Ahedl H &, 39 el [dhed T IIa
Y ST e Forrer & foIv Sugere efsq 1 @ET fared

Ha ORT Sad 6 dlelal hl Fr &

Options:

1. » TRTET
2. = ITUPR
3. % VT&lm
4. v UTaaT

Question Number : 173 Question Id : 54592742190 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MyTorad 7 #, IR fordel § €, 39 oo @7 od= oY 511 [, e, T
Tg! fadmeT 3l

Options:

1. % 3rergydr
2. % 3TYar
3. = TEAar
4. v 3rETAT

Question Number : 173 Question Id : 54592742190 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




AT E&d s A, TN AFeul # @, 39 TOFeT T I
ST e[ <Tse 1 Hel fawed &

Options:

1. = 3TIAT
2. = TOTar
3. « AT
4. v 3T

Question Number : 174 Question Id : 54592742191 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fgerad U ¥, IR [Adeul § 9, 39 fardhey & o2 B ST Y A, P
Gﬁiafﬁﬁﬂ %I

Options:

Question Number : 174 Question Id : 54592742191 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafe@T mea A, a) Bedr # 8, 39 TFeT FT TTT =
ST e[ <Tse 1 Tal fawed &

Options:

1. % TAIEE
2. = 3dallelel
3. = 3afeeg
4. v TG

Question Number : 175 Question Id : 54592742192 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




Fgieiad Uy #, IR Adetl § 9, 39 [adhey & T B ST g A P
Gﬁ'iafﬁvﬂ %I

Options:

Question Number : 175 Question Id : 54592742192 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feaTfaad wed #, IR [hedl A &, 39 QFeT &7 IIT
ST e e T T fdhed &

Options:

Question Number : 176 Question Id : 54592742193 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fgieiad U ¥, IR Adeul § 4, 39 fadhet & o2 B ST IT Yool

SIEC, dTell g adeT 2l

Options:

1. » emEr
2. % o=l
3. = aWST
4, v {dTh

Question Number : 176 Question 1d : 54592742193 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fFITaad wed H, I” @hedl A &, 39 [AFed FT IIT
ST I g‘f&“‘eidl eTec dTell Tal Tdehed &

Options:

1. = QITET

2. % ool
3. % oTHAST
4. v dIch

Question Number : 177 Question Id : 54592742194 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MYeiEd Uy #, I [Adeul # ¥, 39 [ddeT ST T3 B ST I&T Sl
aTelT SIET 3

Options:

1. = dq
2. % holldl
3. v WAT

4. » TguTerel

Question Number : 177 Question Id : 54592742194 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feaTfaad wed #, IR [hedl A &, 39 QFeT &7 IIT
ST HeT TEIfeldr arelT <% gl

Options:

1. = ol
2. % ShelTel
3. v THAT

4. » TEHATIST

Question Number : 178 Question Id : 54592742195 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




METelied Uy #, IR [Adeul #§ 9, 39 ddmed &7 a9 & S 9T Tdhaa-
S[EC, T Y 3T [adeT gl

Options:

1. % el
2. v o&dr

3. % @
4. % Jd

Question Number : 178 Question Id : 54592742195 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frfaf@aa uead &7, a) RAeedl A 8, 39 AFeT &1 T =

S H&T Uehdddl e h a8 3THT [dhed &l

Options:

1. % dTel
2. v or&dr
3. % o\
4. = I

o,

Question Number : 179 Question Id : 54592742196 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FEeiEd Uy #, I ddedl # ¥, 39 [dded ST I B Sl hisd # T
T 96 & ATHAR IIH [T ATeIh Y ATH Bl a4 IATOT [dhe] gl

Options:

1. v (gH) Tl GA ST g 3
2. % ( gH ) 3THT BTH BRI

3. # { 3P ) GO W4T AEH |
4, « (TG ) Meld BHIT |

Question Number : 179 Question 1d : 54592742196 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




AT E&d s A, TN AFeul # @, 39 TOFeT T I
ST hisaceh H TEU T eeg & AR 3cdH J&Y araeh T oTH
HT O ITHT TheT &

Options:

1. v (8A) @& gAA I @ 2l

2. = ((JH ) YA FHIH F|
3. % (3T ) FS HOAT &l |
4. = ( IE ) Ield B |

Question Number : 180 Question Id : 54592742197 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FyTerad vy #, IR aeul § T, 39 [Awey & ad= & St aU 7T arag
& PleT d U DT T Aol gl

oyt g ot IRAT & gl

Options:

1. » ggad A Ydre
2. % 3THH Yddlel

3. * 37Ul HhTel
4. v 3I8qAC HIaTaq Bl

Question Number : 180 Question 1d : 54592742197 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T @d ueeT H, IX TFheul A &, 39 [Thed FT ITT
St 2T 370 areFg o Tl & S FT Tol [dehed &l

T & dr IRAT kA &

Options:

1. = %FI%FFJ 1 HAq HcThTel




2. % 31 el ddhlel
3. = 3YUT cTehlel

o,

4. v BIgHE HASId el

e

General Hindi2

Group Number : 10
Group Id : 5459272090
Group Maximum Duration : 0
Group Minimum Duration : 120
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Hindi?2

Section Id : 5459272090

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 16

Number of Questionsto be attempted: 16

Section Marks: 20
Sub-Section Number: 1
Sub-Section I d: 5459272507
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 54592742198 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Yol ad U ®, IR [AOdetl # 9, 39 [ddhey &r Id= & AT &7 M7 arad

& ToIT gid & 9 BT G 30T [ddheT 2l

wI{T UL 3TV

Options:



Question Number : 181 Question Id : 54592742198 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafeEa ved #, I) TFedl # 8, 39 AFed FT II9 R
St R a1w arery & v gica & #g &1 @ed 3100 fashed B

ST e TSV

Options:

1. = GHTGTL
2. » qagrd
3. = Toreorame
4. v e

Question Number : 182 Question Id : 54592742199 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fafalad vy # o Raeul #§ ¥, 39 fdew o1 a3 e S U M7 areg
& TolT U8y & 9T &7 g 3BT [ddeT

31T STAT DI DT gD THeld oIl gl

Options:

1. * YTACTATLR
2. * Megdrenam
3. = YITdendd
4. v JRIENTR

Question Number : 182 Question Id : 54592742199 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



AT E&d s A, TN AFeul # @, 39 TOFeT T I
S fu 910 arey & Tolv el & dAc &7 T&d 3<3T [Aoed &l

HT FAdT I 3olahl gk THoldl o9l &l

Options:

1. = Gracgardsh
2. % Telcadreaideh
3. » WaIfdcaide
4. v ITHASATTHR

Question Number : 183 Question Id : 54592742200 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

7 et § ¥ MEATYR ag TRadsT & [dd@ey gyl

i U7 o ( Sa=d )

Options:

1. « ¥ oy folar

2. % UF g2y forar mar
3. v ¥ U7 fer@r mam
4, = Tolar 7 U7 434

Question Number : 183 Question 1d : 54592742200 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faFT AFeal § & ﬁlﬁ?llgﬂu =g INade T [Ghed gf&ul

He o3 formr ( waary )

1. = & ¥ forgEr
2. = 9T gHE formm amn



3.¢WW%@TW
4. » for@m T m 97 gHd

Question Number : 184 Question 1d : 54592742201 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT U ¥, IR Tddedl § 9, 39 Tdthed B T B ST gl ATFT A,
&7 TardpeT gl

3Ie® a2t 9wet gid &l

Options:

1. « Ty a1a g
2. % Ggh ATHY
3. * MUa® arad
4, v el dTFy

Question Number : 184 Question Id : 54592742201 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fArafe@a wed A, IR TFedr # &, 39 TFed FT TTT
ST Ter areFg A T [dhed &

ey Tt awer &1 &

Options:

1. » T8 g

2. % H-’:-I;i-d GIER?
3. » [oSuarass arey

4. v Il AT

Question Number : 185 Question Id : 54592742202 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Myleldd 7 ¥, 9 Taddetl # ¥, 39 [ddheT & 9= & 511 Gg1 a1ad 9

PT [AdeT Bl

AR D Ths 14 T I 797 g1 MU

Options:

1. v 9% AT

2. % YYeh ATFY
A ICREL L EIECICIER!
4, = THY g1ag

Question Number : 185 Question Id : 54592742202 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafe@T mea A, I) TFedr # 8, 39 TFeT FT TTT =
ST 98T arsFg A T [dheq 81

AN o Ths olled d & Yool & T

Options:

1. v 3o Aoy

2. % H-gci—d GIER)
3. * ToSearTsh arsg
4. = T8y gareg

Question Number : 186 Question Id : 54592742203 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Maleld 7 ¥, 9 Tadetl # ¥, 39 [ddheT & 9= & 511 9g1 a1ad 9

BT [AdeT Bl

geg @ 3MMd gl PrihA LF F3T

Options:

1. v et dTd




2. % YYeh ATFY
AR L EIECICIER!
4, = THY grag

Question Number : 186 Question Id : 54592742203 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fArafe@a wed A, IR TFedr # &, 39 TFed FT TTT
ST TET aTFg AE T [ahed &l

Eﬁ & 3T & FIAhA [E F3T

Options:

1. v 3o Aoy

2. % H-gci—d GIER)
3. * ToSearTsh arsg
4. = T8y gareg

Question Number : 187 Question Id : 54592742204 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fgierad usy ¥, IR Aaedl § 9, 39 [ardhey & o2 B ST Y aTFT P
ey 3OT [ddeT 3l

Options:

1. v G T T Y& Y AT
2. * G Y& MY T Y AT
3. » U TMQU Ho g Tl
4. = T BT Y AT U T

Question Number : 187 Question Id : 54592742204 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafe@T mea A, a) Bedr # 8, 39 TFeT FT TTT =
S UE ATFT F ged M7 [aeq &l

Options:




@@mmeﬁwaﬁv
» T G I T g AGT
* U TIEY A AG A FI
* I T G ARV gF TH

Question Number : 188 Question 1d : 54592742205 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Mgl 7 #, IR rdeul § ¥, 39 [hdhe & ad e AT 1R =g
Ieh a1 BT Gg! ey gl

Options:

1. # "gT AT TGd @I, THAT g1 BT ATH g1”
2. v G 3 dGd TGh; Th-T §RA 6T T gl
3. = T AT TGd @I~ Th=T IR &l AT 3l
4, = YT 3T TGd Tgl; Th=T IR & AT gl

Question Number : 188 Question Id : 54592742205 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ol

frafe@T mea A, a) Bedr # 8, 39 TFeT FT TTT =
ST far Riger I a9 F1 T&T f9heq gl

Options:

1. = "H&T 3T TG @I, Tohell BNl I ATH &1
2. v g 39 d¢d @I Thall gRa T oTH gl
3. » Hd 39 §ad II- ehell GRa T oATH gl
4. » T 3BT §ed T8N, Tehall R HT oATH gl

Question Number : 189 Question Id : 54592742206 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MYgTeTEd 7T ¥, o) TAdeul § , 39 [Awey & ord= & ST oW =g
gch eITard ol gl e gl

Options:

1. » g1 & TEI °eT GdHaT| §T g7 AT aATgd gF ar A3




2. % STgt, " ¥ TE der ™ T, W ST ATgd &F ar ST
3. v TgI, & 751 TeT amar g1, g7 STT A1gd gr ar s3]
4. » TEY, ¥ TG] ot Gpar; gT, W AT a1gd g ar SIraf|

Question Number : 189 Question Id : 54592742206 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFafe@a wed H, IR Aedr # &, 39 TFed FT TTT
ST feTe RIger o arehd T §ET faehed &l

Options:

1. = ofgl # o6 Tol HhaT| B TH ST ATET & T 37T
2. = I, "H &l el FhaTl" &1, TH ST B B ar S
3. v oidl, # &l Tel HHT| &I, A ST TG & T 37|
4. = ofgl, # L T FehT; &I, TA ST G @Y AT S

Question Number : 190 Question 1d : 54592742207 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HgTeIRad 77 #, IR fdaedl § ¥, 39 [ddhey &l 72+ o ST o g
I AT P 91 ey gl

Options:

1. » TOCTSIT = gr - el H YA el 1l
2. % TOTSIT  gr ; Dol gH A el
3. v TUTSIT 7 <hgl, " @l §H YA deilll”
4. = "TUATSIT = gl” el §H YA el

Question Number : 190 Question Id : 54592742207 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

frafe@T mea A, I) TFedr # 8, 39 TFeT FT TTT =
ST fere Rger gobd arehd T el [ashed &

Options:

1. % TUATSIT o @7 - T §H FHeT Toldl|
2. = TS & g7 ; Fel GH THa Toidl|




3. v TOATSr o @l, " Fel &H gH il
4. = 'O o Fg" Fd §H GHA el

Question Number : 191 Question 1d : 54592742208 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tgiellad Ty #, TR Tddetl § ¥, 39 ferehey @l @ra= @ ST 18U 7T ggrere
o TelT Tgr 3ref eIrelT Tereney gl

3T TR o1

1. * @ & ToIT agAT
2. % 3[7d 0T

Question Number : 191 Question Id : 54592742208 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e @T med A, I) Tedr A &, 39 TFed FT TTT
ST feu atv ggrer & Tolv @ial 379 aren fashed &

& BT ofal

Options:

1. = 23 & ToIv a@ar
.= 3T B

. v 3grATe & SArer

. = Teeerell ar

Question Number : 192 Question 1d : 54592742209 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

=~ W N



Fgieiad Uy ¥, IR [aaeul § 9, 39 fadbet & o1 o S 1U T ggTer
& ToIT TET 3ref aTelr fadeT gl

gers § USAT

Options:

1. = UHC AT 3T
2. % WS B
3. v 3@ AT
4, » YT I

Question Number : 192 Question Id : 54592742209 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafe@T mea A, I) TFedr # 8, 39 TFeT FT TTT =
St 2T 90 Hgrey & forw @l 31eY arerm fasked &

Tars H USar
Options:

1. » 98 AT 3Tal

2. * HOX HY

3. v 3Teredd I
4. = 38T o BT

Question Number : 193 Question Id : 54592742210 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fgieiad U ¥, IR [Aweul § 9, 39 fadhet & o o S 10 1Y ggTer
& ToIq TET 3ref aTelr e gl

TS T g gIHT

Options:

1. » gAA ST




2.« Rig=a g
3. = GEAT AT
4. v Srerar ¥ g

Question Number : 193 Question Id : 54592742210 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFafe@a wed H, IR Aedr # &, 39 TFed FT TTT
it fegu arv Fgerat & v @gr 31 aren fashed ¢

g8 9T g &l

Options:

Question Number : 194 Question Id : 54592742211 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fgfetad vy ¥, oR [Aweul § T, 39 g Owey & o= &2 S & T8
ellehiTth & Tl Tat e aTell [ddey gl

Yool thl &S ATESIC, d

Options:

1. v [l Sitd=T &ACT gt, g T I 3T BT
2.« YT H @I

3. % dtd & Tl ST

4, » GG g

Question Number : 194 Question 1d : 54592742211 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fITaad weed H, I) Q[hedl A &, 39 Tar [Theq T IIo
Y ST & IS ollhllFd & ToIw Far 37T arem dheq gl

Heoll FT 2l3 AfTSE TF

Options:

1. v TSI Sidell &ATT 8, 98 Wdca HT 3dell Sl
2. = GIAT H &

3. = drd & foIv ST

4. = 3TET Bl

Question Number : 195 Question Id : 54592742212 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Maleled U §, IR [Adeul § 9, 39 [dded & Id- & Sl o TS oldlih
& ToIT TET 3ref aTelT et gl

S AT, O FIOATY

Options:

1. » S-SRI UTT hIAT
2. v U STUT EE Ui el
3. * I T IAE

4, » G qIdH 3N AT

Question Number : 195 Question Id : 54592742212 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g ved #, I) TFedl & T, 39 OFeT FT II9
St &1 a2 elepllebd o Tolw g 317 arelmr fashed &1

S8 ARTATY, a8 TT9aATY

Options:



1. % SITel-gEhT 9T hial

2. Jwé\ﬁ‘rghc SEIRS I
3. » AT Toh HATA
4@3@@%3‘111_31@@-[

Sub-Section Number: 2
Sub-Section 1d: 5459272508
Question Shuffling Allowed : Yes

Question Id : 54592742213 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

Question Label : Comprehension
S eI DY EIMYeld Ug 3NN AN ddhedl # 4 Tedd T &l GaidH Il
SEl

UTIT el § ST T TR Ug GHST ST ATl G 1-gHTs dTdl &
3R T o # 39 Ug & aR § YiTdAT theld! dell TS| TZ UG 31 Ac,
TMid & g & IR 3R hdd d19 ¥ # T TG T LT gl AT @1 1T
AT o & BT AT §1 TG 3rcdd ST UF B 39D aATgHSeT Bl qTUATT
T & 240, FENNT et TEar B 31 TgT SHa GV TEH g1 AATb Gt
& 3ITHTE WX &I & ITUG! DI G=IT 7 &1 TS gl 39 Ug PT GoI g q&T
SUG i, T3 g1 Ug SUUG TUGHT ¥ BIhT TST gl TTSFT g Tl SHT
ARIHSA gl 59 ATGHSeT § {1 UITH AT H g1 59 G AT, THT b
g AT ST FehdT gl AT bl ST & QT ST a7 $8ch IRI ofeTd 2T e
fe@rs &d g1 B aerdl AT chepUll § 5chT YT DIl &G STl gl 3T deTdl
dht I NetlTel AT A Sl & T8 IS & TR R RAS & Do Tl &
STt P @IS 3 el gl AT N YT 3R TUE Gory ThdT Ug & 81 8l

Sub questions

Question Number : 196 Question Id : 54592742214 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



ST Y YeZdT BT FIT BRI 372

Options:

1. * STPT G BIET gIHT

2. % EY AT AT

3. v 39% IR 3% TAPd oY
4. = I & GHIT g

Question Number : 197 Question Id : 54592742215 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

BN ESICEERIEGEE R

Options:

1. » g 9gd &l Ml §
2. # Igl ggq THT g
3.vagiagads g

4. » Igi agd FUT

Question Number : 198 Question Id : 54592742216 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Hre N9 of Thgdy GTHT |THT 74T 872

Options:

1. = 3179
2. v UM

3. = ST
4, » LT

Question Number : 199 Question 1d : 54592742217 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

0 T DI - T TAT PT UATIATIT Tal 82

Options:

1. » HSeT
2. % SITET
3. % ERT
4, v 3TAT




Question Number : 200 Question 1d : 54592742218 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

39 3TV, DI DS IUYh ATUh-
Options:

1. * ST U

2. v U eI Ug A

3. » TAe@ ug
4, = 94l Ug

Question Id : 54592742213 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

Question Label : Comprehension



S AT 1 ATAYAh T¢ T AR Thedl H & Tcdsh U

T HalcdH 3ol t_lﬁl

TeileT hTel H ool T HHIRRT TE THST ST AT| Fell-FalTg
FTAT o IR W AR & 39 I8 & dR) H HaAl heldl el
S| TE UG 3cdd A I & I F IRT 3 Hle g a¥ A
Geh TFhY YU AT g1 efel FT o aAR g7 & Bler giar g
I Hcdd 331 U ¢ FHk dAFASA FT dUATA e & 9o,
"HEEE AT IEAT &1 3O TET Sigd HT 8l g1 dArfeeh
TS o TR WX e F 3Urgt Fr &A1 998 B S &1 39

G T TEH 3T 3R UG a5 &l I& YIS ISHT & FHIhHT

ST &1 TISFA 37gd diel SAHT qIYASA 1 $HS agAse H
Aredel 3 TIIed AT # &1 39 9 HiAd, UTel i dig ATl
ST HehelT &1 oIfel T SaTel & ST S0 df §9 IRI g AT
B fezms A &1 a1 gl AT HHUIN & FHDT HeIdT FIHT G
SATAT &1 S oIl hT TieT Aellfeldl o T 24T a5 T &
YR 9 A #ﬁaﬁ%aﬂ'ﬂ’fﬁrma’rg@r%’l SIG
forda geT 3R Tuse o forddll aIg o @l ¢

Sub questions

Question Number : 196 Question Id : 54592742214 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

offel shT FeIdT T FAT HROT §7?

Options:

1. = SHRT o BT Blar
2. = HEH 37c1T Bl

3. v 3T% TRI 3T THhd B




4. = I & AT glalr

Question Number : 197 Question Id : 54592742215 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

oifeT U Sigal FIT THT «IaT &7
1.&6‘53@%%@%

2. % @l g INAT &
SJEIE'.TEIEFI'E%'

4. = g g T &

Question Number : 198 Question Id : 54592742216 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e 3G 1 orgss ATATT AT 34T &7

Options:

1. = 37[daT
2. v Ular
3. « fAgr
4. = Treralr

Question Number : 199 Question Id : 54592742217 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SAH § il - A7 ToIT HT GIFARIT el &7

Options:

1. » HSel

2. % QAT
3. % TN
4. v THT

Question Number : 200 Question Id : 54592742218 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

38 HATde I hI5 IUTF fieh-

Options:

1. = 3olollal &

. v TF Feel IE Alal

2
3. % 'rac_»i;d e
4. = AT TE



